4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,0

X~ 1 rose+U4 /25
"nane Y 4137+ 0.0
pl -34.16 + 0.00

TP delay [ns]

TVC(cbch) (0,0,4

-, 14ze+04 | 25
e pO 4180+ 0.0
pl -34.32:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 0,8

T 14se+u4 /25
— PD 4238+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (0,0,12

~ 1 nug.yobye+ud / 25
- PO 4242+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,1

A7 1 nuiLbsbe+u4 / 25
[ po 4143+ 0.0
p1 -34.3% 0.0

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

- g psze+ud [ 25
[Foees DU 4184+ 0.0
Pl 3462000

TP delay [ns]

TVC(c,b ch) (0 0,9

T rnu.b/oe+u4 [ 25
= pO 4240% 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (0,0,13

T g 3a4e+04 | 25
- pO 4254+ 0.0
pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (0,0,2)

- C = 29.26 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,0,6

X~ 1L bole+U4 /25
[Froeee PO 4145+ 0.0
L pl -34.18+ 0.00

- C = 30.10 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 0 10

1000

T nuz1y1e+u4 / 25
-, DO 4263+ 0.0
L pl -35.95 + 0.00

T nug 153e+04 / 25
e, pO 4176+ 0.0
L PL_ -33.22%0.00

TP delay [ns]

TVC(cbch) (0,0,14

T 1 nug zgoe+u4 [ 25
- PD 4239+ 0.0
[ Pl -34.94%0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,3

AT 1 nuiL430e+U4 / 25
[ po 4143+ 0.0
p1 -33.54 + 0.00

[ C =29.81 [ps/ch]

L

50 100

TP delay [ns]

TVC(c,b ch) (0 0,7

- U B38e+u4 / 25
o, pO 4203+ 0.0
pL -34.58  0.00

[ C =28.92 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (0, O

T, /zbe+u4/25
- p0 4270+ 0.0
pl -35.48  0.00

TP delay [ns]

TVC(C, bch) (0,0,15

T g zzoe+04 [ 25
= 4243+ 0.0
-34.27 + 0.00

I C=29.18 [ps/ch] ]
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50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,0

AT nuii41e+04 /25
.. po 4183+ 0.0
p1 -34.26 + 0.00

TP delay [ns]

TVC(cbch) (01,4

- i 183e+04 / 25
- pO 4208+ 0.0
p1 -34.46 + 0.00

TP delay [ns]

TVC(cbch) (O 1,8

- rnung s11e+u4 [ 25
= pD 4211% 0.0
p1 -35.07:+ 0.00

TP delay [ns]

TVC(cbch) (0,1,12

T L 3roe+u4 / 25
= po 4264+ 0.0
pl -37.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,1)

T L1se+ud [ 25
.. pO 4192+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (0 1,5

- nui 13ze+04 / 25
- pO 4215 0.0
pL -34.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 1,9

T nuig1zze+u4 / 25
= po 4227+ 0.0
-34.35+ 0.00

[ C =29.11 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,1,13

T nui vzae+ud [ 25
= pO 4269+ 0.0
pl -37.77 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000

2000

TVC(cbch) (0,1,2)

A~ 1nuiLiore+u4 /25
_- po 4215+ 0.0
o pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,1,6

1000

- i 243e+04 [ 25
pe, pO 4229+ 0.0
[ pl -35.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 1 10

1 nuiLg4ye+u4 | 25
- po 4245+ 0.0
- pl -35.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,1,14

1000

~ 1L bs4e+U4 [ 25
- pD 4253+ 0.0
L pl -36.81+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,3

AT rnuiL1sie+ud [ 25
e, po 4215+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(c,b ch) (0 1,7

Srna 1.ze+04 /25
- pO 4232+ 0.0
p1 -34.46 + 0.00

[ C =29.02 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, l

Sy /4e+u4/25
- pO 4244+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (0,1,15

T nui oyse+ud / 25
- pO 4262+ 0.0
-36.91+ 0.00
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TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0

A7 1 nun ssoe+u4 / 25
P, po 4201+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (02,4

-1 i 40ae+04 25
- pO 4184+ 0.0
pl -35.66+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

1L gsge+U4 / 25
= po 4227+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (0,212

TrnuiLys/e+u4 [ 25
e, po 4244+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1

AT rnuiL3roe+ud [ 25
., po 4195+ 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

=11 bbbe+u4 / 25
pO 4204+ 0.0
pL -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

T nug. roze+u4 25
po 4259+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (0,213

T inui gbse+ud / 25
pO 4229+ 0.0
pl -36.76 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (0,2,2)

AT 1nuiziae+04 /25
- po 4212+ 0.0
o pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

-1 nui489e+04 [ 25
- pO 4201% 0.0
3 pl -36.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

T, [ r4e+04 | 25
-, po 4260+ 0.0
L pl -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,2 14

T rnuiLgz1e+04 /25
4245+ 0.0
-37.11+ 0.00
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TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3

AT rnuiL4ure+ud [ 25
- po 4220+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,7

-1 nui b3le+u4 / 25
- pO 4228+ 0.0
pL -37.16+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

T, 4abe+u4/25
- po 4258+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(C, bch) (0,215

T nair3ye+ud [ 25
= po 4243+ 0.0
p1 -36.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

[, po

T g zoe+ud /25
4200+ 0.0
-36.13+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,34

- i zuze+u4 [ 25
4188+ 0.0
-34.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (O 3,8

T rnuig.uase+u4 / 25
4222+ 0.0
-34.73+ 0.00

TP delay [ns]

TVC(cbch) (0,3, 12

A1,

b po
p1

142e+04 125
4257+ 0.0
-36.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1)

= po

A1 Zaze+Ua ] 25
4199+ 0.0
-34.97+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (0 3,5

=1 4vpe+04 / 25
4193+ 0.0
-35.28 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

e, po

pl

~ 1 nuip34e+04 / 25
4237+ 0.0
-35.21+ 0.00

TP delay [ns]

TVC(cbch) (0,3,13

== po

T inuisble+ud / 25
4248+ 0.0
-35.16 + 0.00

il
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (0,3,2)

= po

AT 1nunzsse+ud /25
4212+ 0.0
-36.12+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,36

=1 nurg zope+u4 [ 25
4212+ 0.0
-36.72 + 0.00

- PO

[ o

F C = 27.23 [ps/ch .
55 At

TP delay [ns]

TVC(cbch) (0, 3 10

F= b

©1nuizyage+04 | 25
4247+ 0.0
-35.03 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,3 14

- p"

~ 1L bu4e+04 / 25
4268+ 0.0
pl -36.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (0,3,
= %
pl

3

nuiL3z3e+u4 / 25
4224+ 0.0
-35.9+ 0.0

TVC(c,b ch) (0 3,7

-

pe=e. pO
pl

1
100

TP delay [ns]

nur baze+u4 / 25
4224+ 0.0
-35.47 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 3

= pO

Ty ‘:UE+U4/25
4255+ 0.0
-35.74 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (0,3,

X1

= po

15

nuiLb44e+04 / 25
4264+ 0.0
-35.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0)

A7 1 nui ouze+u4 /25
.. po 4203+ 0.0
p1 37+ 0.0

rC=27.02 [ps/c 7

50 100

TP delay [ns]

TVC(cbch) (04,4

- i 343e+04 / 25
= pO 4199 0.0
pl -36.39+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

T L, rzge+04 | 25
- po 4220+ 0.0
p1 -34.92 + 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T i, ro4e+04 / 25
4227+ 0.0
-36.41+ 0.00
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TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1)

AT nuaiL4r3e+ud [ 25
P, po 4183+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

=1 nuiLasoe+ud [ 25
== po 4202+ 0.0
pl -36.81+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 4,9

. V‘Ul44zbe+U4/25
- po 4236+ 0.0
p1 -34.99 £ 0.00

TP delay [ns]

TVC(cbch) (0,4,13

T inai/44e+04 [ 25
= pO 4235+ 0.0
pl -36.36 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,4,2)

K™ 1 nuiouye+ud / 25

F po 4219+ 0.0
L pl -38.04 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (04,6

11urL pbae+u4 [ 25

3 pO 4222+ 0.0
[ pl -37.92+ 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

- o

1 nuiL yyle+ud / 25

pl -35.55+ 0.00

4258+ 0.0

TP delay [ns]

TVC(cbch) (0,4,14

1 i goge+u4 [ 25

[F-e. pD 4226+ 0.0
[ p1 -36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

o=, po

p1

A~ 1 nuiLbsae+u4 / 25
4226+ 0.0
-36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

pO
pl

-1 nui 4p1e+04 / 25
4217+ 0.0
-37.15+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (0, 4

= pO

SRR ba4e+u4/25
4265+ 0.0
-36.13+ 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T nui syve+ud / 25
4235+ 0.0
-37.42+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,0)

A7 1 nui uose+ud / 25
4176+ 0.0
-36.63+ 0.00

TP delay [ns]

TVC(cbch) (0,5,4

S a1 u3e+u4 /25
4190+ 0.0
-35.18 + 0.00

== po
pl
e 4
% T
TP delay [ns]
TVC(cbch) (O 5,8
g pD

1 nuiLYove+u4 / 25
4181+ 0.0
-34.43+ 0.00

TP delay [ns]

TVC(cbch) (0,5,12

- po
p1

Tyl /e+u4 [ 25
4194+ 0.0
-34.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,51)

. p0

pl

AT 1 nuLosse+ud [ 25
4175+ 0.0
-37.53+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

pO
pl

-1 nui U3ze+u4 [ 25
4180+ 0.0
-36.11 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0 59

~ 1 nup.anbe+ud [ 25
4201+ 0.0
-35.38 + 0.00

TVC(cbch) (0,5,13

TP delay [ns]

-1 nuiLagoe+ud | 25
4200+ 0.0
-34.56 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,5,2)

=, po

A™1nuiLusre+u4 /25
4181+ 0.0
-36.71+ 0.00

pl

TP delay [ns]

TVC(e.ben=(0,5, 6

i

pO
p1

837/ 25
4190+ 0.0
-35.92 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

= pO

©1nuiz.418e+04 / 25
4223+ 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,5,14

- DD
pl

~ 1L bzoe+u4 / 25
4203+ 0.0
-35.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3)

e po

AT rnuiLzzie+ud [ 25
4182+ 0.0
-36.11 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (0 57

-1 nui Zo3e+u4 [ 25
4201+ 0.0
-33.8+ 0.0

[ C =29.58 [ps/ch]

_L

1
50 100

TP delay [ns]

TVC(c,b ch) (0, 5

= pO

T 94be+u4/25
4217+ 0.0
-34.66 + 0.00

TP delay [ns]

TVC(C, bch) (0,5, 15

FERALT

== po

(19e+u4 | 25
4202+ 0.0
-35.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0

A7 1 nui syve+ud / 25
', po 4204+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (06,4

- 1L blye+ud / 25
pO 4193+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

©1nuz.bsge+u4 | 25
po 4211+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T L goe+ud /25
pO 4222+ 0.0
pl -34.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1

x- 1L d1ve+ud | 25
Fee,, po 4196 + 0.0
pL -35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

- /U6 /Ye+U4 [ 25
= pO 4177+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

T nu.a1ze+04 /25
= po 4227+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (0,6,13

T inuiLgrye+ud [ 25
= pO 4215+ 0.0
pl -35.06 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

X~ 1 siie+ud [ 25
=, po 4201+ 0.0
L pl -35.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

- 1 1uiLbave+u4 / 25
4196+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

T 1nug.us4e+ud [ 25
- po 4251+ 0.0
o pl -37.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

~ 1L pzse+u4 | 25
- pD 4219+ 0.0
[ p1 -35.74+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3

AT rnuiLsrve+ud [ 25
poee, po 4218+ 0.0
pl -36.22+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

“ o 1gbe+u4 [ 25
- pO 4193+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

T, u4/e+u4/25
- pO 4264+ 0.0
p1 -37.42+ 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

TinaiLgrse+ud /25
- po 4220+ 0.0
p1 -35.49 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,7,0)

= PO

A7 1 nuiao0e+04 / 25
4200+ 0.0
pl -37.37+ 0.00

TP delay

TVC(cbch) (0.7,4

[ns]

T/ fe+V4 [ 25
4220+ 0.0
pl -35.36+ 0.00

e, pO
FC J
1 1 -
50 100
TP delay [ns]
TVC(cbch) (0,7,8)
T rnug.Urge+ud /25
= pO 4234 0.0
pl -36.57 + 0.00

TP delay

TVC(cbch) (0,7,12

[ns]

T L yzse+u4 | 25
4220+ 0.0
-34.47 + 0.00

[ C =29.01 [ps/ch]
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50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,1)

", po

A1 nuiL4noe+ud [ 25
4210+ 0.0
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TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (0,14,2)

= po

X~ 1L 39be+u4 [ 25
4199+ 0.0
p1 -35.85+ 0.00

TP delay

TVC(Cbch) (o, 14 6

pO
p1

[ns]

© i b2pe+u4 / 25
4205+ 0.0
-34.01+ 0.00

F C = 29.40 [ps/ch]

50 10'0
TP delay

TVC(eb,ch)=(0, 14, 10

= 90

[ns]

S rnusre+ud [ 25
4231+ 0.0
pl -35.96 + 0.00

TP delay

TVC(CbCh) (o, 14 14

= PD

[ns]

T, zd4e+04 | 25
4238+ 0.0
pl -37.11+ 0.00

PR R R SR R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

o po

AT 1 nuiL2yve+u4 [ 25
4197+ 0.0
-35.2+ 0.0

p1

TP delay

TVC(c,b Ch) (0, 14 7

E. pO

[ns]

=1 nui buge+u4 / 25
4205+ 0.0
pl -34.57 + 0.00

TP delay

TVC(e.beh)=(0, 14, 11

. pO

[ns]

T nuzylze+ud [ 25
4230+ 0.0
pl -36.05+ 0.00

TP delay

TVC(cbch) (0, 14,15

A nai g

e po

[ns]

le+ud /25
4243+ 0.0
-37.31+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

[ C=29.77 [ps/ch]

T rse+u4 [ 25
.. pO 4193+ 0.0
pl -33.59+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,154

T rnuan1.39e+04 /25
- pO 4208+ 0.0
p1 36+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 15 8

~1nuizyole+ud [ 25
= po 4218+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T/ rse+u4 [ 25
= po 4229+ 0.0
pl -34.87 + 0.00

TP delay [ns]

TVC(chh) (0,15,1)

3000 - T
2000 - T
wof C = 30.26 [ps/ch] .. ]

AT rnuLzuie+ud [ 25
4000 [ po 4192+ 0.0
pl -33.05+ 0.00

TP delay [ns]

TVC(cbch) (0,155

4000 S

3000

2000

1000

=11 bube+u4 / 25
pO 4211 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

T nu.zb3e+ud / 25
4000 em, pO 4256+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13

4000 [

3000

2000

1000

T 1 nuiL ooye+ud / 25
pO 4219+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(CbCh) (0,15,2)

AT 1 nun43se+04 /25
_- po 4214+ 0.0
o pl -35.29.+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.15,6

=i basbe+u4 [ 25
- pO 4217+ 0.0
3 pl -36.42+ 0.00

TP delay [ns]

TVC(cbch) (0, 15 10

1000

1 nuz.pgbe+u4 | 25
-, po 4275+ 0.0
- pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (0.15, 14

T 1nuiLps3e+u4 / 25
- pD 4216+ 0.0
L -34.39+ 0.00

- C = 29.08 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

X- 1 L ubae+U4 | 25
po 4210+ 0.0
pL -34.85+ 0.00

TP delay [ns]

TVC(c, bch) (0,157

-1 b3be+u4 / 25
- pO 4232+ 0.0
pL -36.57+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C=29.05[ps/ch]

Tonanzule+ud | 25
pO 4251% 0.0
p1 -34.42+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0, 15,15

-1 nui ozoe+ud / 25
- po 4225+ 0.0
p1 -34.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

X~ 1 srse+U4 /25
- Y 4181+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(cbch) (1,0,4

- 1L a54e+04 / 25
™, pO 4163+ 0.0
pl -35.93+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T L gs3e+u4 / 25
- PD 4187+ 0.0
pl -34.33+ 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T nuiLpbse+ud / 25
= PO 4199+ 0.0
pl -34.93 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1

R- Ui 41ze+04 [ 25
- Y 4183+ 0.0
pl -36.8 0.0

[ C=27.17 [psic ]

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (1,0,5

'rHulibQE+U4/25
- Y 4172+ 0.0
pL -35.41+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 0,9

-1 g boge+u4 [ 25
- pO 4208+ 0.0
pL -34.54+ 0.00

TP delay [ns]

TVC(cbch) (1,0,13

Tz, guse+u4 [ 25
= pO 4199+ 0.0
pl -35.94 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

X~ 1w 443e+04 [ 25
™, po 4177+ 0.0
[ pl -35.53 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

S a1 b3e+u4 /25
4182+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(cbch) (1, 0 10

T nu314e+04 / 25
- DO 4226+ 0.0
L pl -34.74 % 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

- L y3re+04 ] 25
=, pD 4212+ 0.0
I pl -37.26 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

R™ 15 ae+U4 [ 25
= Y 4200+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

/Hulibbe+04/25
F= PO 4192+ 0.0
pL -36.27 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

SRRV uzye+u4/25
- pO 4234+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

Ty /oe+u4 [ 25
= pO 4205 0.0
pl -36.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0)

AT 1nui3r0e+04 /25
4174+ 0.0
-36.11 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (11,4

- i b4aze+04 [ 25
4174+ 0.0
-35.6+ 0.0

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 1,8

1 nuiLgEoe+U4 / 25
= po 4193+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

© i 5oze+04 / 25
- po 4210+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1L ssye+ud [ 25
., po 4195+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

- nui /83e+u4 [ 25
pO 4192+ 0.0
pL -36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

- C =29.19 [ps/ch]

T nun.an3e+ud [/ 25
po 4218+ 0.0
p1 -34.26 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T inuiL oo /e+ud [ 25
pO 4202+ 0.0
p1 -36.7 £ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,1,2)

A7 1 nun suse+ud / 25
- po 4194+ 0.0
L pl -35.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

© i b13e+u4 / 25
- pO 4201% 0.0
3 pl -35.94+ 0.00

3000

TP delay [ns]

TVCebeh)=(1, 1, 10

- C = 29.10 [ps/ch]

T a2 3u/e+u4 [ 25
-, po 4225+ 0.0
L pl -34.37 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,114

T rnuiLp3le+u4 / 25
-, pD 4211+ 0.0
L p1 -36.74 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT rmuiLzrie+ud [ 25
P, po 4202+ 0.0
pl -34.91+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

-1 nui byle+ud / 25
- pO 4200+ 0.0
p1 -35.14 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
- nuiLyuse+ud / 25
4228+ 0.0
-35+ 0.0

TP delay [ns]

TVC(cbch) (1,1,15

T inuip31e+ud / 25
- pO 4202+ 0.0
p1 -35.17+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0)

AT inun 1oe+u4 /25
. po 4193+ 0.0
pl -36.6+ 0.0

TP delay [ns]

TVC(cbch) (1,24

- rnuiLaz9e+04 [ 25
Fe pO 42114 0.0
p1 -35.78:+ 0.00

TP delay [ns]

TVC(ebeh)=(1,2,8

T Zose+u4 | 25
= po 4196+ 0.0
pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (1,212

T L pye+ud /25
= po 4238+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

A1 L 5ase+U4 | 25
' po 4194+ 0.0
pL -35.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nui bz4e+04 [ 25
pO 4230+ 0.0
pL -35.69+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T inug.zoe+ud [ 25
po 4218+ 0.0
pl -35.03 + 0.00

TP delay [ns]

TVC(cbch) (1,213

Tinuig1se+ud [ 25
pO 4237+ 0.0
pl -37.14+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,2,2)

K™ 1nuioiae+04 /25
_- po 4208+ 0.0
o pl -35.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

T nun148e+04 /25
- pO 4238+ 0.0
- pl -35.87 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 2, 10

Tz 1r4e+04 /25
= po 4227+ 0.0
- pl -35.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,2 14

T i y4se+u4 [ 25
-, pD 4237+ 0.0
L pl -36.12+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT 1L osse+ud [ 25
- po 4201+ 0.0
pl -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

-1 nui bzZoe+u4 / 25
- pO 4235 0.0
pL -35.56+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T ab/e+u4/25
e pO 4249+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

T inuiy4se+ud [ 25
4233+ 0.0
-36.1+ 0.0

PR I S S |
50 100

TP delay [ns]



TVC(cbch)(130) TVC(cbch)(lSl) TVC(cbch)(132) TVC(cbch)(133)
A7 nui ozze+V4 /25 AT 1 nuLosse+ud [ 25 K™ 1nuiLoroe+ud /25 AT rnuiLblie+ud /25
4000 po 4204+ 0.0 4000 fm po 4205+ 0.0 4000 = po 4208+ 0.0 4000 e, po 4223+ 0.0
pl -37.12+ 0.00 pl -35.73+ 0.00 : pl -36.03i_0.00 pl -36.51+ 0.00

3000

- 3000 =1 3000 -1 3000 -

2000 1 2000 -1 2000 -1 2000

1000 — 1000 E 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,34 TVC(cbch) (1,35 TVC(cbch) (1,36 TVC(c, bch) (1,37

T UL brge+u4 / 25 - nur g13e+04 / 25 =1 nurL 8obe+u4 [ 25 S rnan 19ze+u4 [ 25
4000w, pO 4198+ 0.0 4000 pO 4229+ 00 4000 pO 4229 0.0 4000 e, pO 4235+ 00
p1 -37.1% 00 Pl -33.37+000 t PL_ 3819+ 000 Pl -37.82+000

-1 3000~

3000 - -1 3000 -1 3000

2000~ . 2000 -1 2000~ - 2000

woo- C = 26.96 [ps/c ] 1000

-
-

1 L e 1 Lo [ 1 Lo ] 1
0 50 00 0 50 100 0 0 50 100

- 1000~

—- 1000 [~ C

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehch=(1,3,8) TVC(Ebe=(1,3,9) TVC(ebeh=(1, 3, 10) TVC(ebe)=(1, 3, 1)
© i z9ze+04 [ 25 ~ g yaze+u4 [ 25 TnuiLy/ze+u4 [ 25 T b/ze+u4 [ 25
4000 e, pO 4228+ 0.0 4000 e, pO 4247+ 0.0 4000 [, DO 4268+ 0.0 4000 fom, p0 4251+ 0.0
Pl 3522+ 000 Pl -35.85:0.00 [ PL_ 3578+ 0.00 Pl 3546+ 0.00

-1 3000

3000 _ 3000 - 3000 .

2000 E 2000 — 2000 - 2000

1000 — 1000 T 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,3 12 TVC(cbch) (1,313 TVC(cbch) (1,314 TVC(C, bch) (1,315

4000 [, R “’)w*”‘”zs C T 1)59”14/25 2000 E -7 nar )u V27125 1000 E i, ,¢)¢e+u4/25
== pO 4192+ 0.0 4000 e, 4193+ 0.0 == pO 4187+0.3 = pO 4197+ 0.0
pl -33.31+ 0.00 -33.43+ 0.00 r pl -33.3+ 0.0 pl -34+ 0.0
3000 |- - 3000 s 3000} ] 3000 -
2000 [~ -1 2000 - - 2000 -— —- 2000 -1
- - - — -~ -_ —_ _- 1000 |~ e -1
w0~ C = 30.02 [ps/ch] ™. w0 C = 29,91 [ps/ch] ™, 10001- C = 30.03 [ps/ch] ™, 1] C =29.41 [ps/ch] N\
- - . .
. . [ . -
. . [ - ] .
L 5(I) L L L L 160 L L L L L gg L L L L 10'0 L L L L L 5(I) L L L L 160 L L L L L gé L L L L 1[;0 L

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0

AT 1nui 714e+04 /25
- po 4218+ 0.0
pl -38.25+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

S rnuiLS/7e+u4 [ 25
== po 4201+ 0.0
pl -34.94 + 0.00

50 10‘0
TP delay [ns]

TVC(eb.oh)=(1, 4,8

T, ryse+u4 | 25
- pO 42411 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (1,4,12

T rzse+u4 | 25
= po 4206+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT rnuiLbyle+ud /25
F po 4223+ 0.0
pl -38.82+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= 1 nui Sage+ud | 25
== po 4215+ 0.0
pl -35.91+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 4

~ 1 nu.3yze+u4 25
- po 4269+ 0.0
pl -36.55 + 0.00

TP delay [ns]

TVC(cbch) (1,4,13

T inaizoe+ud | 25
— pO 4215+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,4,2)

A7 1 nuibsoe+ud /25
F po 4225+ 0.0
- pl -37.95+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,4,6

T i/ (oe+u4 [ 25
- pO 4220+ 0.0
[ pl -36.43+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

Tz, 145e+04 | 25
- DO 4288+ 0.0
L pl -37.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,4,14

~ i, ruse+u4 / 25
- pD 4218+ 0.0
L p1 -35.73+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

AT rnuiLbole+ud /25
=, po 4227+ 0.0
pl -37.62+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

= 1 nuiL g19e+04 / 25
= po 4226+ 0.0
pl -35.69 % 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

1)
~ 1 nuiz.uzae+ud [ 25
- po 4276+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

Tinuible+ud [ 25
- po 4210+ 0.0
p1 -36.11+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0)

A7 1 nuiz 1use+u4 / 25
4190+ 0.0
-35.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,54

© i, 745e+04 [ 25
o, pO 4223 0.0
p1 -35.94+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (1, 5 8

T zyle+ud /25
po 4234+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (1,512

Tz 1oe+u4 [ 25
pO 4250+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

AT rnuziyie+ud [ 25
Frase po 4194+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nui 9ype+u4 / 25
pO 4223+ 0.0
pL -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

T inuy.sLie+ud | 25
- po 4258+ 0.0
pl -36.13 + 0.00

TP delay [ns]

TVC(cbch) (1,5,13

Tanuizzye+ud | 25
- pO 4246+ 0.0
pl -35.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (1,5,2)

A~ 1 nuiLgyze+ud /25
Freee po 4199+ 0.0
L pl -35.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,56

=i, ro8e+u4 [ 25
- pO 4240+ 0.0
[ pl -36.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 5 10

1000

0

T nugboe+u4 [ 25
-, po 4272+ 0.0
- pl -36.88 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,5,14

© L goze+u4 [ 25
- pD 4244+ 0.0
| pl -35.46 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

[ C =28.54 [ps/ch

AT 1 nuiz,3ss4e+U4 [ 25
= po 4208+ 0.0
pl -35.03+ 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

-1 nui yuye+u4 / 25
- pO 4242+ 0.0
pL -35.51% 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

AR aque+u4/25
- po 4279+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(C, bch) (1,5,15

TinuiLpl/e+ud /25
- pO 4255+ 0.0
p1 -35.55+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0

AT rsse+04 /25
.. po 4192+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (1,64

- i b4aze+04 [ 25
e pO 4218+ 0.0
p1 -36.72:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 6, 8

1 nuiLYype+u4 / 25
- po 4220+ 0.0
pl -34.77 + 0.00

TP delay [ns]

TVC(cbch) (1,6,12

~ L yzoe+u4 / 25
= po 4230+ 0.0
pl -37.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

=, po

AT 1 nuiLbsse+ud /25
4196+ 0.0
-36.58 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (1, 6

S i br3e+u4 [ 25
4216+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

= po

-1 nuis.obge+ud / 25
4240+ 0.0
-35.19+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,6,13

T inuiLysse+ud / 25
4226+ 0.0
-36.39+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000

2000

TVC(cbch) (1,6,2)

- C = 26.73 [pslc .

AT 1nuiLorse+ud /25
P po 4203+ 0.0
L pl -37.4+ 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (16,6

© i b13e+u4 / 25
- pO 4219+ 0.0
[ pl -35.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 6 10

© 1 nuizyoze+ud | 25
. po 4255+ 0.0
L pl -34.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,614

1000

T, rzse+u4 | 25
pD 4221+ 0.0
pl -36.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

AT 1L Buve+u4 [ 25
4211+ 0.0
-35.83+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (1 6,7

C pO
pl

-1 nui bg/e+u4 / 25
4218+ 0.0
-35.06 + 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 6, 11

Yz39 /25
4244+ 0.0
-34.61+ 0.00

T

T
= po
pL

[ C =28.90 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (1,6,15

36.13 + 0.00

Tonan1yre+ud [ 25
- pO 4212+ 0.0
p1 E + 0.

TP delay [ns]



TVC(cbch) (1,7,0

3000

2000

1000

A7 1 nui sobae+ud / 25
4000 e ” po 4184+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (17,4

3000

2000 [~

1000 [~

S i1 58e+04 /25
4000 f pO 4195+ 0.0
p1 -36.75+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(1,7,8

4000 [,

3000

2000

1000

T zaze+u4 /25
po 4218+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (1,7,12

4000

3000

2000

1000

T i Eze+u4 / 25
4226+ 0.0
-35.4+ 0.0
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,1)

T 1ole+ud /25
=N pO 4201 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

= 1 nuiL buse+ud / 25
== po 4194+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

T nug3roe+u4 /25
= po 4220+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (1,7,13

T nuiLpose+ud / 25
— pO 4228+ 0.0
pl -36.33+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,7,2)

A7 1 nui ozse+u4 /25
= po 4194+ 0.0
o pl -355+ 0.0

3000

TP delay [ns]

TVC(cbch) (17,6

-1 nun 348e+04 / 25
- pO 4238+ 0.0
[ pl -36.95+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

1 nuiz,uyve+ud | 25
o=, po 4227+ 0.0
L pl -35.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T rnuiLp4e+u4 /25
- pD 4222+ 0.0
L pl -35.38+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

x- 1 L bade+U4 | 25
= po 4211+ 0.0
p1 -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

=1 nui byze+ud | 25
= po 4220+ 0.0
pl -37.23+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 7

1)
T nuiLy1ze+ud [ 25
= po 4238+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

T nuioose+ud [ 25
4230+ 0.0
-35.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

AT inui rz1e+04 /25
P po 4172+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (1,84

= 1 Qoae+ud [ 25
== po 4212+ 0.0
pl -37.78 + 0.00

TP delay [ns]

TVC(cbch) (1 8,8

1L gsze+U4 | 25
= po 4203+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (1,812

T L pule+u4 / 25
= po 4238+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT 1o /se+ud [ 25
oo, po 4200+ 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

= nuiL Zore+ud [ 25
== po 4204+ 0.0
pl -37.29 % 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

-1 nu bUbe+u4 [ 25
= po 4230+ 0.0
pl -36.13 + 0.00

TP delay [ns]

TVC(cbch) (1,813

~ 1 nuiLbyze+ud [ 25
= pO 4219+ 0.0
pl -35.22+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

A7 1 nun ssze+04 [ 25
- po 4203+ 0.0
L pl -36.58 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,86

-1 nuizbge+04 [ 25
- pO 4207+ 0.0
3 pl -36.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

©1nuz sove+ud | 25
= po 4241+ 0.0
L pl -36.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

T, 45e+04 / 25
- pD 4237+ 0.0
[ p1 -36.98 + 0.00

3000
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT 1L szze+u4 [ 25
- po 4207+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

-1 nui 3bbe+u4 / 25
4208+ 0.0
-37.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 8

T yue+u4/25
= po 4235+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

-1 nuiL buobe+u4 / 25
= pO 4236+ 0.0
p1 -35.77 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0

A7 1 nui ooae+u4 /25
.. po 4194+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (1,94

- 1L 5p9e+u4 / 25
[, PO 4209+ 0.0
pl -36.23+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 9,8

[ C =29.49 [ps/ch]

1L beve+U4 / 25
= pO 4181+ 0.0
pl -33.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,9,12

T L, r4pe+04 / 25
= po 4206+ 0.0
pl -34.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,91

AT 1nuiLoL/e+ud [/ 25
- po 4205+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

-1 b3be+u4 / 25
- pO 4222+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

T nu.p1be+ud / 25
= po 4213+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(cbch) (1,9,13

[ C =29.31 [ps/ch] ]

-1 nuiL suoe+ud / 25
- pO 4194+ 0.0
p1 3411+ 0.00
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50 100

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000

2000

1000

TVC(cbch) (1,9,2)

K™ 1 nuiooae+u4 / 25
_- po 4200+ 0.0
L pl -36.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (19,6

1000

- rnuiLblze+u4 [ 25
- pO 4229+ 0.0
[ 369+ 0.0

3000

TP delay [ns]

TVC(cbch) (1, 9 10

1000

1 nuzbope+u4 [ 25
= po 4230+ 0.0
L pl -35.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,914

Ty e+u4 [ 25
= pD 4200+ 0.0
L p1 -35.28+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9, 3)

AT 1L osse+ud [ 25
po 4234+ 0.0
pl -38.04+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

-1 nui 4nye+04 / 25
- pO 4233+ 0.0
pL -35.99+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 9

[ C=29.33 [ps/ch] ]

T yme+u4/25
= 4222+ 0.0
-34.09 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,9,15

[ C=29.21 [ps/ch] ]

TinuiLay/e+ud [ 25
- 4208+ 0.0
-34.24+ 0.00
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50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T rnuiLgsze+u4 [ 25
.. pO 4197+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (1,10,4

S i1 52e+04 /25
4185+ 0.0
-34.4+ 0.0

TP delay [ns]

TVC(cbch) (1, 10 8

Tz pzze+04 | 25
= po 4230+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

T L r4e+04 /25
= po 4223+ 0.0
-33.87 + 0.00

[ C =29.52 [ps/ch]
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

AT 1 nunLzsze+ud [ 25
o=, po 4214+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

-1 nui 458e+04 / 25
e pO 4185+ 0.0
pL -35.07+ 0.00

TP delay [ns]

TVCEbeh)=( 1, 10,9

T nuiggo3e+ud [ 25
= po 4236+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (110,13

~ 1 nui oyae+ud [ 25
F 4228+ 0.0
-32.93+ 0.00

[ C =30.37 [ps/ch] ™, 7
s *
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

TP delay [ns]

TVC(cbch) (1,106

K™ 1 nui4uie+u4 /25
__— po 4200+ 0.0
L pl -34.89 + 0.00

3000

T bb/e+u4 [ 25
- pO 4204+ 0.0
[ pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1 nuiz,gube+u4 / 25
4252+ 0.0
-36.4 + 0.0

TP delay [ns]

TVC(cbch) (110,14

T nuiLpLoe+u4 / 25
. pD 4227+ 0.0
L pl -34.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT 1 nuiL4noe+ud [ 25
=, po 4197+ 0.0
pl -34.57 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

-1 nui byye+u4 / 25
- pO 4217+ 0.0
pL -35.66+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 10, 11

-1 nui yuge+ud 25
= po 4277+ 0.0
p1 -38.24+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T nui p4ze+u4 [ 25
F=. 4212+ 0.0
-33.66 + 0.00

[ C=29.71 [ps/ch] ]
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50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A~ nuiazoe+04 /25
- po 4200+ 0.0
p1 -37.13+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 4

- UL 3oBe+u4 / 25
.. po 4205+ 0.0
pl -35.76 + 0.00

50 5
TP delay [ns]

TVC(ebeh=(L, 11,8

T 1nug.41pe+04 / 25
= po 4227+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(c,b Ch) (1,11,12

A~ 1 nui ozie+u4 / 25
= po 4240+ 0.0
pl -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (1,11,1)

K™ rnuiLg1se+ud [ 25
.. po 4210+ 0.0
p1 -36.4 £ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 11 5

Tonanl /1e+u4 /25
4201+ 0.0
-36+ 0.0

TP delay [ns]

TVC(eb.eh)=(1, 11, 9

T nupb1ie+ud | 25
e pO 4254+ 0.0
p1 -37.56 £ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 13

T nuisule+ud / 25
pO 4238+ 0.0
pl -36.52+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (1, 11 2)

-~ ssre+u4 [ 25
.. pO 4225+ 0.0
[ p1 -37.26+ 0.00

3000

TP delay [ns]

TVC(c,b Ch) (1, 11 6

- i, ryze+u4 [ 25
- pO 4220+ 0.0
[ pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 10

1000

0

X© 1 Iz 5u9e+U | 25
- po 4271 0.0
L pl -36.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (1,11, 14

X~ 1 i 49pe+U4 [ 25
- po 4234+ 0.0
[ p1 -37.26 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,11,3)

A- 1 L sEae+U4 | 25
= po 4227+ 0.0
pL -36.31% 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 7

S nui b /ze+u4 [ 25
- pO 4230+ 0.0
p1 -35.94 + 0.00

50 160
TP delay [ns]

TVC(Ebeh=(1, 11, 11

-1 nuiz.u4se+ud [ 25
- po 4275+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 15

- i vsbe+ud [ 25
= pO 4244+ 0.0
p1 -37.45+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T srve+u4 [ 25
4154+ 0.0
-34.69 + 0.00

TVC(chh) (1,12,1)

X

4000 [,

3000

2000

1000

po
pL

L s1se+ud [ 25
4163+ 0.0
-35.12+ 0.00

1
100

TP delay [ns]

TVC(cbch) (1,124

- 1L 459e+04 / 25
= pO 4171+ 0.0
pl -35.15+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

1 nuzpoye+ud | 25
- po 4196+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (1,12,12

L gove+u4 / 25
pO 4193+ 0.0
pl -34.89+ 0.00

TP delay [ns]

TP delay [ns]

TVC(cbch) (1,125

4000 R

3000

2000

1000

-1 bgge+u4 / 25
pO 4184+ 0.0
pL -35.46 + 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

4000

3000

2000

1000 [~

~ 1 nuiy.y4se+ud [ 25
= po 4202+ 0.0
p1 -34.23+ 0.00

C =29.21 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (112,13

4000 [,

3000

2000

1000

T nui osse+ud / 25
= pO 4191+ 0.0
-35.81+ 0.00
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50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

b po

AT 1nuiazse+04 /25
4172+ 0.0
p1 -34.84+ 0.00

TVC(Cbch) (1,12,3)

A

4000 [,

3000

2000

1000

po
pL

1 nuiL439e+U4 [ 25
4179+ 0.0
-34.36 + 0.00

1
100

TP delay [ns]

TVC(cbch) (1126

© L4 /8e+04 [ 25
- pO 4183+ 0.0
[ pl -35.28+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

1000

©1nuig,3yse+u4 | 25
= po 4223+ 0.0
L p1 -35.49+ 0,00

TP delay [ns]

TVC(cbch) (112,14

~1nuiLpsde+ud [ 25
pD 4207+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c, bch) (1,127

=1 boye+u4 / 25
- pO 4197+ 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 11

T nuiz zobe+ud [ 25
= po 4215+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- T nuipuse+ud / 25
pO 4195+ 0.0
-35.17 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (1,13,0)

X~ 1nug.uzre+u4 [ 25
4204+ 0.0
pl -37.47 + 0.00

TP delay

TVC(cbch) (1,134

[ns]

T i/ (5e+04 [ 25
4210+ 0.0
-35.19+ 0.00

P PO
p1
3000 ]
2000~ 7]
1000 C 7]
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (113,8)
© 1 nuz,Qule+u4 / 25
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1000 C ] 1000 1 wool- C = 27.21 [ps/ch 7 wool- C = 27.57 [ps/ch ]
I 2 I ) I -
50 00 0 50 T00 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TvC(cb Ch) (2, 4, ..ﬁ 20:e+u4 725 TVC(c.b Ch) (2, 4 g, /)J_Le+U4/25 TVC(c,b, Ch) (2, 4, .%-912/&04/25 TVC(c.b Ch) (2, 4, o, ua)ue+u4/25
4000 4243+ 0.0 4000 4258+ 00 4000 [, po 4275+ 00 4000, po 4280 0.0
Pl 3828+ 000 -37.31+ 000 [ PL_ -37.19+ 000 Pl -37.54% 000

-1 3000

m
o
S

3000~ 1 3000 -1 3000

2000~ -1 2000 -1 2000 -1 2000

1000 [~ -1 1000

-1 1000 - 1000

I I [
% 50 00 0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T rnuiLgs1e+u4 / 25 T nuiasse+ud / 25 T L blpe+u4 / 25 T nuiob/e+ud [ 25
4000 [m, pO 4243+ 0.0 4000 pO 4228+ 0.0 4000 PD 4232+ 0.0 4000 4236+ 0.0
-34.57 + 0.00 pl -35+ 0.0 I pl -35.07 + 0.00 -35.01+ 0.00

- 3000

3000~ _ 3000 - 3000 -1

2000 [~ | 2000 -1 2000 -1 2000

- 1000 [~

- 1000 -1 1000

1000 C = 28.93 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,50)

T Lase+ud /25
= pO 4214 0.0
p1 -35.79+ 0.00

TP delay [ns]

TVC(cbch) (2,54

- i 399e+04 [ 25
F.. po 4187+ 0.0
pl -36.34 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 5,8

[ C =29.03 [ps/ch]

- i obe+ud 1 25
e, pD 4214+ 0.0
-34.45+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (2,5,12

S i 17 e+u4 [ 25
4231% 0.0
-34.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

A1 2aae+Ua | 25
=N po 4207+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

-1 nui byle+u4d / 25
- pO 4198+ 0.0
pL -36.94 + 0.00

TP delay [ns]

TVC(c,b ch) (2 59

~ 1 nuigbube+ud / 25
= po 4238+ 0.0
p1 -34.45 + 0.00

[ C =29.03 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (2, 5 13

T inai z43e+u4 / 25
- 4240 0.0
-33.97+ 0.00

[ C =29.44 [ps/ch] ]

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

X~ 1 L zsye+u4 [ 25
F-. po 4220+ 0.0
[ pl -36.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,56

© i bzoe+04 / 25
- pO 4202+ 0.0
- pl -35.95 + 0.00

TP delay [ns]

TVC(eb.oh)=(2, 5, 10

- i sl/e+U4 1 25
- pO 4250+ 0.0
[ pL -34.94 + 0.00

TP delay [ns]

TVC(cbch) (2,514

S rnui131e+04 /25
- pD 4246+ 0.0
N p1 -34.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

A~ nuiL3zze+u4 [ 25
- po 4221+ 0.0
pL -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (2 57

= 1 nui Svge+ud / 25
= po 4209+ 0.0
p1 -36.11+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T, /4/e+u4/25
- po 4255+ 0.0
p1 -34.41+ 0.00

[ C =29.06 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 5 15

- i 18ve+ud [ 25
= pO 4232 0.0
p1 -34.63 + 0.00

TP delay [ns]



TVC(cbch) (2,6,0)

4000

3000

2000

1000

T Lsoe+ud /25
4197+ 0.0
-35.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (26,4

4000

3000

2000

1000

-1 324e+04 ] 25
[, pO 4259+ 0.0
pl -35.99 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 6, 8

4000

3000

2000

1000

© i 3o4e+U4 / 25
"anre, PD 4245+ 0.0
p1 -34.64 + 0.00

[ C =28.87 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (2,6,12

4000

3000

2000

1000

T Luse+ud /25
pO 4227+ 0.0
pl -32.82+ 0.00

[ C =30.47 [ps/ch] ™. ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT 1 nuLsyze+ud [ 25
Fraee po 4206+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 nui Zobe+u4 [ 25
[P, DO 4263+ 0.0
-34.77 + 0.00

[ C =28.76 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

T 1 nuig zobe+ud [ 25
- pO 4264+ 0.0
-35.6 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,6,13

T inai szye+ud [ 25
P 4229+ 0.0
-34.55+ 0.00

[ C =28.94 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

A~ 1 nuioyze+u4 /25
_l_ po 4214+ 0.0
- pl -36.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.34 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

T rnuizyr4e+ud | 25
- po 4290+ 0.0
[ pl -36.37 % 0.00

“rar 7 9648125
P, pO 4257+ 00
[ Pl 3529+ 0.00

TP delay [ns]

TVC(cbch) (2,614

T i soze+u4 [ 25
__ pD 4233+ 0.0
L pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT 1L byoe+ud [ 25
P e po 4220+ 0.0
pl -35.52+ 0.00

[ C =28.16 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nun Z34e+04 / 25
pO 4261+ 0.0
p1 -34.72:+ 0.00

[ C =28.80 [ps/ch] ]

L
50 100
TP delay [ns]

TVC(c,b ch) (2, 6

Ty ase+u4/25
- po 4289+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

T nai szze+u4 /25
P 4242+ 0.0
-34.75+ 0.00

[ C =28.78 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

-, po

T L zse+ud /25
4199+ 0.0
-36.1+ 0.0

pl

TP delay [ns]

TVC(cbch) (2,7,4

533e+U4 / 25
4186+ 0.0
-34.77 + 0.00

— po,..u.l
pl
e ]
| =
50 100
TP delay [ns]
TVC(cbch) (2, 7 8
o pD

.3bre+u4 | 25
4210+ 0.0
-35.28 + 0.00

TP delay [ns]

TVC(cbch) (2,7,12

© L gose+u4 / 25
4220+ 0.0
-36.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

e, po

A1 nuiLanse+ud [ 25
4206+ 0.0
-36.57 + 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (2 7,5

-1 nui blye+u4 / 25
4188+ 0.0
-34.8+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (2, 7

Tinugz/1e+u4 /25
4222+ 0.0
-34.66 + 0.00

TP delay [ns]

TVC(cbch) (2,7,13

T nuiooze+ud [ 25
4211+ 0.0
-35.51+ 0.00

il
100

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

1000

TVC(cbch) (2,7,2)

. po

K™ 1 nuiLooie+u4 /25
4219+ 0.0
-37.62+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,7,6

=
pD
pl

1./e+04 /25
4216+ 0.0
-35.34 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

= 90

Trnuzole+u4 [ 25
4223+ 0.0
-35.31+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,7,14

T nuiLpr4e+u4 [ 25
4218+ 0.0
pl -35.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

o po

AT 1 nuiLo41e+U4 /25
4221+ 0.0
-36.46 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 7,7

pe=e. pO
pl

-1 nui brge+ud / 25
4211+ 0.0
-35.24 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

AN ume+u4/25
4241% 0.0
-35.38+ 0.00

TP delay [ns]

TVC(C, bch) (2,7,15

P, pO

TinuiLyz/e+ud [ 25
4226+ 0.0
-36.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

A1

Soye+u4 25
4214+ 0.0
-35.22+ 0.00

TP delay [ns]

TVC(cbch) (28,4

g,
pO
pL

331e+04 /25
4228+ 0.0
-34.62 + 0.00

[ C =28.89 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (2 8,8

T rnuiza41e+04 /25
po 4230+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (2,812

po
p1

- 1 s81e+U4 [ 25
4265+ 0.0
-36.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,1)

k... po

A 1L ooze+ud [ 25
4230+ 0.0
-35.92+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (2 8,5

-1 nui Zoye+u4 [ 25
4225+ 0.0
-33.8+ 0.0

[ C =29.59 [ps/ch]

50

1
100

TVC(c,b ch) (2 8,9

TP delay [ns]

T nu, 7zoe+u4 [ 25
po 4237+ 0.0
p1 -35.31% 0.

35.31+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (2, 8 13

pO

p1

T nuiL vye+ud / 25
4246+ 0.0
-36.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

K™ g, 4005+Um‘
- po 4234+ 0.0
[ p1 -35.25+ 0.00
L L
[ C =28.37 [ps/ch 7]
I 1 1 ™
50 100
TP delay [ns]
TVC(cbch) (2,86)
- bz3e+04 [ 25
- pO 4243+ 0.0
[ pl -34.25::‘
- C =20.19 [ps/ch™, 1
[ . -
50 100

TP delay [ns]

TVC(cbch) (2, 8 10

- 1w 52ae+04 ] 25
. po 4254+ 0.0
3 pl -34.85+ 0.

-34.85 + 0.00

TP delay [ns]

TVC(cbch) (2,814

pD
pl

= 1 i pULe+U4 [ 25
4263+ 0.0
-36.11+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3)

AT 1 nuiL Zsse+u4 | 25
fes. po 4223+ 0.0
pl -33.76 + 0.00
[ C=29.62[ps/ch] ™, ]
L L =
50 100
TP delay [ns]

TVC(c,b ch) (2 8,7

- pO
p1

=1 nui buse+u4 / 25
4256+ 0.0
-35.48 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 8

T ﬁbée+l}4/25
pO 4276+ 0.0

35.66 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 8 15

. pO

p1

T nui p4ve+ud / 25
4272+ 0.0
-37.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0

A7 1nuiaz0e+04 /25
P po 4155+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (29,4

- i b83e+u4 / 25
- pO 4201+ 0.0
pl -37.32:+ 0.00

TP delay [ns]

TVC(cbch) (2 9,8

“rnuig 11 /e+u4 | 25
- pD 4204+ 0.0
pl -35.48+ 0.00

TP delay [ns]

TVC(cbch) (2,9,12

T s1e+u4 / 25
= po 4201+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

AT rnuLosie+ud /25
P, po 4170+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

=11 bobe+u4 / 25
pO 4206+ 0.0
pL -37.96+ 0.00

1=
50 100
TP delay [ns]

TVC(c,b ch) (2 9,9

T 1y za4e+04 | 25
= po 4217+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (2,9,13

T nuiooze+ud [ 25
- pO 4196+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,9,2)

A7 1 nui oyoe+u4 / 25
- po 4176+ 0.0
L p1 -34.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

=i, 7gye+ud / 25
- pO 4200+ 0.0
[ pl -36.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 9 10

©1nuzbe3e+u4 [ 25
= po 4238+ 0.0
L pl -35.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

T rnuiL4roe+04 / 25
= pD 4206+ 0.0
F pl -36.93+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3

AT 1L obye+ud [ 25
poes, po 4160+ 0.0
pl -34.78 + 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

-1 nuz.0g3e+u4 / 25
pO 4229+ 0.0
pL -37.95+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 9

AN UbHe+U4/25
4234+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(C, bch) (2,9,15

Tinuias/e+ud [ 25
= pO 4200+ 0.0
p1 -36.18 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T goze+u4 [ 25
= pO 4165+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (2,104

- a1 5ze+04 [ 25
P, pO 4195+ 0.0
pl -35.04 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 10 8

1 nuiz,guve+u4 | 25
= po 4218+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (2,10,12

T L pase+u4 / 25
= po 4238+ 0.0
pl -35.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

AT nun L 3be+ud [ 25
peoe.. po 4167+ 0.0
pl -34.62 + 0.00

TP delay [ns]

TVC(c, bch) (2,10,5

=1 nui buge+u4 [ 25
- pO 4195+ 0.0
pL -34.35+ 0.00

TP delay [ns]

TVC(Ebeh)=(2, 10,9

T nug. rz8e+ud [ 25
- pO 4242+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (210,13

T nuipble+ud / 25
= pO 4233+ 0.0
pl -36.25+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

AT 1nuiszie+04 /25
- po 4191+ 0.0
[ p1 -36.68 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,10,6

- i, r03e+u4 / 25
- pO 4228+ 0.0
[ pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (2,10, 10

T a3 r9e+u4 | 25
-, po 4273+ 0.0
- pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (2.10,14

T rnuiLgo1e+04 /25
- pD 4233+ 0.0
L pl -35.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(C, bch) (2,10, 3

X~/ nuai )aqu 125
- pO 4193+ 0.1
p1 36+ 0.0

TP delay [ns]

TVC(c, bch) (2,10,7

Cnui s11e+u4 / 25
- pO 4225+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(eheh)=(2, 10, 11

T inuzyr3e+ud [ 25
- po 4278+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (2,10,15

Tinaisze+ud [ 25
F=. 4229+ 0.0
-34.45+ 0.00

[ C =29.03 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

K™ 1nuioive+u4 /25
.. po 4175+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (2,11,4

- rnuiLaz3e+04 / 25
e pO 4186+ 0.0
p1 -34.65+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

T rnuizur4e+04 /25
= po 4212+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (2,11, 12

X~ 1L rube+u4 / 25
= po 4232+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(Cbch) (2,11,1)

3000

2000

1000

AT 1 nuiLb3be+u4 [ 25
4000 e po 4190+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(cbch) (2,11,5

4000 S

3000

2000

1000

-1 nun 33ze+04 / 25
pO 4193 0.0
pL -35.55+ 0.00

TP delay [ns]

TVC(eh.eh)=(2, 11, 9

4000 [

3000

2000

1000

~ 1 nug 159e+u4 / 25
po 4231+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (211,13

4000 [

3000 -

2000

1000 [~

Tanai g rze+ud [ 25
pO 4231% 0.0
pl -35.18 + 0.00

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2, 11 2)

1000

© i b4se+u4 [ 25
- pO 4199+ 0.0
L pl -36.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,11,6

T rnuiLz3/e+u4 [ 25
e pO 4202+ 0.0
[ pl -35.73+ 0.00

TP delay [ns]

TVC(e.b.ch)=(2, 11, 10

Tz 1 r9e+u4 | 25
- po 4241+ 0.0
L -34.81+ 0.00

TP delay [ns]

TVC(cbch) (2,11, 14

X~ 11 boze+u4 [ 25
-, po 4240+ 0.0
L pl -36.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,11,3)

AT rnuiLoble+ud [ 25
- po 4200+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (2,11,7

-1 nuibu/e+u4 / 25
- pO 4212+ 0.0
pL -35.67+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 11 11

T nui pb3e+ud / 25
= po 4228+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (211,15

T inuis1oe+ud [ 25
= pO 4234+ 0.0
p1 -35.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

T rnwiLgive+u4 /25
.. pO 4195+ 0.0
pl -37.07 + 0.00

TP delay [ns]

TVC(cbch) (2,124

T/ re+u4 [ 25
- pO 4218+ 0.0
pl -36.13+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

T 1nug.usse+u4 / 25
= pO 4201+ 0.0
pl -34.69 + 0.00

TP delay [ns]

TVC(cbch) (212,12

T rnuiLyrse+ud [ 25
= po 4245+ 0.0
p1 -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

F PO

AT 1nun Lose+ud [ 25
4206+ 0.0
pl -38.02+ 0.00

TP delay

TVC(cbch) (2,125

F- pO

[ns]

-1 nu B33e+04 / 25
4229+ 0.0
pl -36.53 + 0.00

TP delay

TVCEbeN)=(2 12,9

e, po

[ns]

T nun 5 goe+u4 [ 25
4227+ 0.0
pl -35.58 + 0.00

TP delay

TVC(cbch) (212,13

e, pO
p1

[ns]

~inuiby/e+ud [ 25
4226+ 0.0
-34.7+ 0.0

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

TP delay [ns]

TVC(cbch) (2.12,6

A~ 1 nui4p1e+04 /25
_- po 4217+ 0.0
o pl -37.26+ 0.00

3000

-1 i bBge+u4 / 25
pe, pO 4235+ 0.0
[ pl -36.48+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

T, r13e+04 / 25
- po 4234+ 0.0
- pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (212,14

TrnuiLgse+u4 [ 25
. pD 4242+ 0.0
L pl -35.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

X- 1 L adae+U4 | 25
4216+ 0.0
pL -36.44 + 0.00

po

TP delay

TVC(c, bch) (2,12,7

- pO

[ns]

~nui Ure+u4 [ 25
4265+ 0.0
pl -37.45+ 0.00

50 100
TP delay

TVC(cbch) (2, 12 11

= pO

[ns]

-1 nuiz suae+u4 25
4237+ 0.0
pl -35.01+ 0.00

TP delay

TVC(cbch) (212,15

[ns]

T nui szee+ud [ 25
4231+ 0.0
p1 -34.99 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

©rnuiL4use+ud [ 25
.. pO 4202+ 0.0
pl -36.62+ 0.00

TP delay [ns]

TVC(cbch) (2,134

- 1 nuiLbube+ud / 25
pO 4238+ 0.0
pl -39.87+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

T L/ r3e+U4 [ 25
= po 4202+ 0.0
pl -35.86+ 0.00

TP delay [ns]

TVC(cbch) (2,13, 12

T rnuiLy41e+04 /25
= po 4229+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(chh) (2,13,1)

3000

2000

1000

AT rnuiLbzie+ud [ 25
4000 . po 4220+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c, bch) (2,135

4000 =

3000

2000

1000

~ i /3be+04 / 25
- pO 4241+ 0.0
pL -39.35+ 0.00

1 "
50 100
TP delay [ns]

TVCEeben)=(2 13,9

4000 [

3000

2000

1000

~ 1 nug.sube+u4 [ 25
po 4227+ 0.0
p1 -34.69 £ 0.00

TP delay [ns]

TVC(cbch) (213,13

4000 [

3000

2000

1000

~ 1 nuiL oyse+ud / 25
pO 4223+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(CbCh) (2, 13 2)

TP delay [ns]

TVC(cbch) (2,136

T ze+u4 [ 25
o= pO 4210+ 0.0
o pl -36.31+ 0.00

3000

T r5/e+04 [ 25
pO 4252+ 0.0
pl -39.47 + 0.00

TP delay [ns]

TVC(cbch) (2,13,10

T zz3e+04 /25
-, po 4238+ 0.0
- pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (2.13,14

T i, roBe+u4 / 25
- pD 4226+ 0.0
L -35.8 + 0.0

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

po 4224+ 0.0
pl -36.83+ 0.00

AT Lo roe+ud [ 25

TP delay [ns]

TVC(c, bch) (2,13,7

pl -38.97 + 0.00

F pO

nur 1. 79e+04 / 25
4254+ 0.0

TP delay [ns]

TVC(eheh)=(2, 13, 11

e pO 4239+ 0.0
pL -36.19+ 0.00

1 nuz 109e+u4 / 25

TP delay [ns]

TVC(cbch) (2,13,15

: f ’f‘

i Bzoe+u4 [ 25
4227+ 0.0
35.51+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

T 1ove+u4 / 25
4172+ 0.0
-35.51+ 0.00

1
50 100

TP delay

TVC(cbch) (2,144

[ns]

T i1 Zze+04 /25
4181+ 0.0
pl -36.75+ 0.00

TP delay

TVC(cbch) (2, 14 8

[ns]

T nuig.zs4e+u4 [ 25
4225+ 0.0
-37.31+ 0.00

TP delay

[ns]

TVC(cbch) (2,14,12)

B pO

1L pose+u4 / 25
4212+ 0.0
pl -35.58 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

=, po

AT rnuiLiyse+ud [ 25
4176+ 0.0
-35.88+ 0.00

pl

TP delay [ns]

TVC(c, bch) (2,145

=1 nui 38be+u4 / 25
4210+ 0.0
-37.18 + 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

By
e pO
pl

145e+U4 | 25
4249+ 0.0
-37.23+ 0.00

TP delay [ns]

TVC(cbch) (214,13

= po

T nuipble+ud / 25
4212+ 0.0
-36.96 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (2,14,2)

e, po

AT inuisire+u4 /25
4176+ 0.0
pl -35.67 + 0.00

TP delay

TVC(cbch) (2.14,6

[ns]

T by /e+u4 [ 25
4215+ 0.0
pl -36.43 + 0.00

- pO
F C = 27.45 [ps/ch .
5(') 10'0 =
TP delay [ns]

TVC(e b eh)=(2, 14,10

F- o

T 1nuz 31pe+u4 | 25
4259+ 0.0
pl -37.12+ 0.00

TP delay

TVC(cbch) (2.14,14

F=. DD

[ns]

T, zd4e+04 | 25
4210+ 0.0
pl -36.12+ 0.00

TP delay

[ns]

TVC(Cbch) (2,14,3)

4000 £ 20

AT rnuiLiole+ud [ 25
4180+ 0.0
p1 -34.63+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (2,14,7

2000 pO

[ns]

- 1L 468e+U4 | 25
4211+ 0.0
pl -35.98 + 0.00

3000

2000

1000 C

50 1(;0
TP delay

TVC(cbch) (2, 14 11

~ 1 nui g48e+u4 [ 25
4263+ 0.0
p1 -37.44.+ 0.00

4000 [ue.

pO

[ns]

3000

2000

1000

TP delay

TVC(cbch) (2,14,15

4000 £ pO

[ns]

T nuioo3e+ud [ 25
4211+ 0.0
p1 -35.77 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 15 0)

T r1se+u4 [ 25
4172+ 0.0
p1 -35.55 + 0.00

TVC(chh) (2,15,1)

4000 e po

AT 1 nuiLbuse+U4 / 25
4184+ 0.0
p1 -35.43 + 0.00

3000

2000

1000

1
100

TP delay [ns]

TVC(Cbch) (2, 15 4

- iU p3ye+ud [ 25
== po 4188+ 0.0
pl -35.55+ 0.00

- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 15 8)
- rnuzpolye+ud / 25
= pO 4210+ 0.0
pl -36.58 + 0.00

TP delay

TVC(Cbch) (2, 15 12

- pO

[ns]

T, r48e+04 / 25
4217+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 5

4000 R

pO

T nan153e+04 /25
4185+ 0.0
pl -34.58 + 0.00

3000 -

2000

1000 |- C

50 150
TP delay

TVC(ebeh)=(2 15,9

4000 e pO

[ns]

-1 nub.yuoe+ud / 25
4236+ 0.0
p1 -35.97 £ 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (2, 15 13

4000 e pO

p1

[ns]

- i1 a9e+u4 [ 25
4207+ 0.0
-34.78 + 0.00

3000 -

2000

1000 [~

TP delay [ns]

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (2,15,2)

" PO

AT L sse+ud | 25
4188+ 0.0
p1 -35.48 + 0.00

TVC(Cbch) (2,15,3)

4000 [ po

p1

A1 nuiLbrse+ud [ 25
4195+ 0.0
-35.5+ 0.0

3000

2000

1000

TP delay [ns]

TVC(Cbch) (2, 15 6

1
100

1L boge+u4 / 25
- pO 4198+ 0.0
L p1 -35.74+ 0.00

TP delay

TVC(epeh)=(2, 15, 10

1000

0

= "

[ns]

- huizs rde+ud | 25
4265+ 0.0
p1 -37.33 0.00

TP delay

TVC(c,b Ch) (2, 15 14

= "

[ns]

T 1L, 4pe+04 / 25
4222+ 0.0
pl -35.29+ 0.00

4000 (R

TP delay [ns]

TVC(c,b Ch) (2, 15 7

= 1nuiL, ro8e+ud / 25
po 4210+ 0.0
p1 -35.96 + 0.00

3000

2000

1000 [~ C

50 160
TP delay

TVC(ehch)=(2, 15, 11

4000 o pO

[ns]

<1 nuiL gooe+u4 / 25
4237+ 0.0
p1 -35.45 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (2, 15 15

4000 o pO

[ns]

- i poze+ud [ 25
4209+ 0.0
p1 -33.17 + 0.00

3000 -

2000

101 C = 30.15 [ps/ch] ™.,

TP delay [ns]
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50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,0)

TonuLare+ud /25
3 pO 4202+ 0.0
pL -37.98  0.00
1 1=
50 100
TP delay [ns]

TVC(cbch) (3,0,4)
- i blbe+ud / 25
- pO 4214 0.0
pl -37.49. 0.00

TP delay [ns]

TVC(cbch) (3 0,8

[ C =29.50 [ps/ch]

T g, 1z4e+04 / 25
- po 4167+ 0.0
-33.9+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,0,12

T z1oe+ud /25
= po 4238+ 0.0
pl -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

P po

pl

AT 1L oyoe+ud [ 25
4172+ 0.0
-36.52 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

-1 nu Byze+u4 [ 25
4206+ 0.0
-36.58 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

~ 1 nuy.vbye+ud / 25
4210+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(cbch) (3,0,13

1 nuiz.ubae+ud / 25
pO 4222+ 0.0
pl -35.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

TVC(cbch) (3,0,2)

po

pl

AT 1nuiLorie+V4 /25
4191+ 0.0
-37.05+ 0.00

50 700
TP delay [ns]
TVC(cbch) (3,0,6)
T 1L, 744e+04 | 25
4000 fo pD 4228+ 0.0
pl -37.95+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (3, 0 10

4000

3000

2000

1000

- C = 29.43 [ps/ch]

Tz y3ie+ud | 25
-, po 4201+ 0.0
- pl -33.98 + 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (3,0,14

4000

2000

1000

1 nuiz,uspe+ud / 25
F-. pD 4232+ 0.0
L pl -36.05+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3)

e po

AT 1 nuiLosbe+ud [ 25
4200+ 0.0
-37.03+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 0,7

pO
pl

- nui grge+u4 / 25
4236+ 0.0
-37.88+ 0.00

TVC(c,b ch) (3, O

100
TP delay [ns]

T z/9e+u4/25
pO 4207+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(C, bch) (3,0,15

-1 nui ysye+ud [ 25
4216+ 0.0
-34.61+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

A7 1nui ruze+u4 /25
- po 4178+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (31,4

S 2e+04 /25
pO 4198+ 0.0
pl -35.97+ 0.00

TP delay [ns]

TVC(cbch) (3 1,8

1 nuz,3yge+u4 | 25
= po 4189+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (31,12

T rnuiLg3se+u4 / 25
4211+ 0.0
-34.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1

AT 1nuiLb3/e+u4 /25
o, po 4186+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

=1 nui Ysae+u4 [ 25
pO 4187+ 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

-1 nais 3upe+ud [ 25
po 4195+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (3,1,13

Tinai/1/e+ud /25
pO 4220+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

A™ 1 nuiLsyie+u4 /25
po 4178+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (3,1,6

T B8 /e+u4 [ 25
e pO 4205+ 0.0
[ pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

1 nuzgove+u4 | 25
- po 4194 0.0
L pl -34.88+ 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

T o/e+u4 /25
= pD 4207+ 0.0
L p1 -35.59+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

A7 1 nuiz,usae+u4 [ 25
- po 4200+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (31,7

-1 nu 144e+04 / 25
- pO 4216+ 0.0
p1 -36.54 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

T, 191e+u4/25
= pO 4211+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(cbch) (3,1,15

Tinuisz/e+u4 /25
= pO 4217+ 0.0
p1 -35.16+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

e, po

A7 1nui rsoe+u4 /25
4167+ 0.0
pl -35.59+ 0.00

TP delay

TVC(cbch) (3,24

[ns]

-1 i byge+ud / 25
4175+ 0.0
pl -35.47 + 0.00

TP delay

TVC(cbch) (3 2,8

[ns]

©1nuzgoze+u4 | 25
4220+ 0.0
pl -35.59+ 0.00

TP delay

TVC(cbch) (3,212

[ns]

T i, ryoe+u4 | 25
4224+ 0.0
-35.4+ 0.0
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50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1)

. PO

AT 1 nuiLbzye+ud [ 25
4188+ 0.0
-36.67 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nui /uoe+u4 / 25
4201+ 0.0
-36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

e, po

pl

T nan s yze+ud [ 25
4233+ 0.0
-36.34 + 0.00

TP delay [ns]

TVC(cbch) (3,213

Tanai3ze+ud [ 25
4225+ 0.0
-35.71+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,2,2)

™, po

A7 1 nuiozoe+V4 /25
4193+ 0.0
-37.38+ 0.00

pl

TP delay [ns]

TVC(cbch) (32,6

pO
p1

S rnunLBu/e+u4 [ 25
4200+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(cbch) (3, 2 10

1000

0

- o

T 1nuig.u4se+u4 [ 25
4274+ 0.0
-38.13+ 0.00

pl

0 50 100

TP delay [ns]

TVC(cbch) (3,2, 14

A1,

1use+U4 /25
4218+ 0.0
-35.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3)

e po

AT 1L r1ve+ud [ 25
4194+ 0.0
-37.1+ 0.0

p1

TP delay [ns]

TVC(c,b ch) (3 2,7

pO
pl

S nui /4/e+04 / 25
4205+ 0.0
-35.71+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 2

AN us/e+u4/25
4266+ 0.0
-37.19+ 0.00

TP delay [ns]

TVC(C, bch) (3,215

T nui byze+ud [ 25
4233+ 0.0
-35.24+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

AT 1nui s14e+04 /25

e po 4187+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (33,4

- rnuiL419e+u4 / 25
= pO 4208+ 0.0
p1 -34.18+ 0.00

[ C =29.26 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

©1nuizuL4e+u4 [ 25
= po 4210+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (3,312

T L, r9pe+u4 / 25
pO 4230+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,3,1

X- 1 L dove+ud | 25
Fee,, po 4195+ 0.0
pL -36.48+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nui bzbe+u4 [ 25
- pO 4221+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nup.38be+u4 | 25
= po 4219+ 0.0
p1 -34.69 £ 0.00

TP delay [ns]

TVC(cbch) (3,313

T 1 nuiL gyae+ud 25
pO 4232+ 0.0
pl -35.94+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,3,2)

A7 1nun ss1e+04 /25

TP delay [ns]

TVC(cbch) (33,6

- po 4212+ 0.0
L pl -35.93+ 0.00

3000

- rnub1ze+04 [ 25
- pO 4230+ 0.0
[ pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (3, 3 10

© 1z bzge+u4 | 25
- po 4248+ 0.0
- pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (3,3 14

T 1oe+ud /25
- pD 4214+ 0.0
- pl -35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3)

e po

AT rnuiLsole+ud [ 25
4211+ 0.0
-34.51+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 3,7

pO
pl

=11 bbae+u4 / 25

4247+ 0.0
-34.55+ 0.00

[ C =28.95 [ps/ch]

_L

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 3

T a/5e+u4/25
4249+ 0.0
-36.63 + 0.00

TP delay [ns]

TVC(C, bch) (3,3,15

A rnan g

(1e+u4 /25
4236+ 0.0
-36.44+ 0.00

TP delay [ns]



TVC(cbch)(340) TVC(cbch)(34l) TVC(cbch)(342) TVC(cbch)(343)
A1 nui bove+ud / 25 AT rnuiLbsie+ud /25 K™ 1nunr11e+u4 /25 AT 1L bae+ud [ 25
4000 e PO 4192+ 0.0 4000 =, po 4189+ 0.0 4000 ._- po 4185+ 0.0 4000 e, po 4204+ 0.0
pl -36.68+ 0.00 pl -36.22 + 0.00 : pl -35.77 + 0.00 pl -36.83+ 0.00

3000

1 3000 -1 3000 -1 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (34,4 TVC(cbch) (3.4, TVC(cbch) (34,6 TVC(c, bch) (3.4,

“ g :?‘:IAENJA 125 T b)SLE+U4/25 AL R b?AAeHJd 125 T nar B)/ZEH)4125
4000 pO 4226+ 0.0 4000 pO 4231 0.0 4000 [, pO 4239+ 0.0 4000 e, pO 4246+ 0.0
Pl -36.04: 0.00 Pl -36.69 0.00 L PL_ -37.37%0.00 Pl 35943000

3000 - 3000 E 3000 E 3000 [ -

2000 — 2000 e 2000 E 2000 f -

1000 - 1000 e 1000 C = e - = 1

C r C=26.76 [psic ] wor C = 27.83 [ps/ch
" [ -] "
- - -
1 ' 0 o 1 L 1 -
50 00 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(3,4,8) TVC(e.e=(3,4,9) TVC(eb.ch=(3, 4, 10) TVC(ebe)=(3, 4, 1)
T nug, f19e+u4 / 25 -1 nub.Ubze+u4 [ 25 © 1 nu pd4se+ud [ 25 T 1/ze+u4 /25
4000 e pO 4209+ 0.0 4000 pO 4228+ 00 4000 DO 4238+ 00 4000, p0 4243+ 00
pl -34.3% 0.0 Pl -34.85% 0.00 : PL_ 3577+ 0.00 Pl -34.92+ 0.00

- 3000

3000~ -1 3000 T 3000 .

] 2000 E 2000

2000 - - 2000

- 1000

- 1000 1000

w0l C = 29,16 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,4,12 TVC(cbch) (3,4,13 TVC(cbch) (3,4,14 TVC(C, bch) (34,15

~ 1 nuiLyose+u4 / 25 4000 T 3re+u4 [ 25 4000 TnuiLs1ve+ud [ 25 4000 <1 baye+u4 [ 25
4000 b, pO 4234+ 0.0 = PO 4220+ 0.0 - pD 4220+ 0.0 - PO 4223+ 0.0
pl -36.45 + 0.00 pl -37.25+ 0.00 I pl -36.85 + 0.00 pl -36.09 + 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

AT nuioise+ud /25
Frcea. po 4200+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- i Bz4e+04 [ 25
. pO 4212 0.0
p1 -35.34+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 5,8

Ty rse+u4 [ 25
- po 4238+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

T rnuiLg3se+u4 / 25
- po 4292+ 0.0
pl -36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT 1 nuiLbuse+ud /25
- po 4226+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

[ C =28.85[ps/ch] o]

- nui Bl/e+u4 [ 25
4202+ 0.0
-34.67 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

~ 1 nuz ysse+ud / 25
po 4267+ 0.1
pl -35.34 + 0.00

TP delay [ns]

TVC(cbch) (3,5,13

Tinairo1e+ud /25
pO 4280+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

K71 nuiozze+V4 /25
_l po 4230+ 0.0
- pl -35.87 + 0.00

T LYz /e+u4 [ 25
fo, pO 4206+ 0.0
[ pl -34.36+ 0.00

- C = 29.10 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

©1nuig,14pe+04 / 25
- po 4282+ 0.0
N p1 -34.9+ 0.0

- C = 28.65 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

T 1 gae+ud /25
- pD 4280+ 0.0
L pl -36.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT 1 nuiLb48e+U4 [ 25
s, po 4238+ 0.0
p1 -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui yaze+u4 | 25
- pO 4218+ 0.0
p1 -34.34+ 0.00

[ C=29.12 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

- po

Toa oz ze+u4/25
4287+ 0.0
-35+ 0.0

I C =28.57 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T inuiyzie+ud [ 25
- pO 4293+ 0.0
p1 -36.87 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

K™ 1 zsze+U4 [ 25
™, Y 4174 0.0
pl -34.13+ 0.00

TP delay [ns]

TVC(cbch) (36,4

T4 r5e+04 [ 25
- pO 4238+ 0.0
pl -36.69+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

T, r3ve+u4 | 25
- PD 4227+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (3,6,12

~ i byze+u4 / 25
4219+ 0.0
-35.11+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

AT 1nuiLsule+u4 / 25
- Y 4185+ 0.0
pl -34.61+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

S nun1.54e+04 [ 25
- DU 4254+ 0.0
-37.5+ 0.0

TP delay [ns]

TVC(c,b ch) (3 6,9

T nup.b41e+U4 / 25
- DO 4255+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (3,6,13

T bybe+u4 / 25
PO 4231% 0.0
pl -35.9 + 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (3,6,2)

AT 1nuisyre+u4 /25
e, po 4201+ 0.0
I pl -35.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

-1 nuiLbb4e+04 [ 25
- pO 4256+ 0.0
3 pl -36.88+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

S oz 73e+ud | 25
- DO 4248+ 0.0
I pl -35.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

- L7 e+04 ] 25
PD 4243+ 0.0
-36.49 £ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3)

A~ rnunr 1ae+ud /25
= Y 4190+ 0.0
pl -34.58 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

~nui brze+u4 /25
- PO 4260+ 0.0
Pl -37.88+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

aRALVS 151e+u4/25
- pO 4262+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

T b53ye+u4 [ 25
PO 4237+ 0.0
pl -35.6 + 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

A7 1 nui4uoe+u4 /25
.. po 4194+ 0.0
pl -35.16+ 0.00

TP delay [ns]

TVC(cbch) (37,4

- i 4p9e+04 / 25
e, pO 4203+ 0.0
p1 -35.45+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T LYy e+u4 [ 25
= pO 4211+ 0.0
p1 -37.04 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

~ 1L pyse+u4 / 25
4223+ 0.0
-34.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1)

T 1sve+ud [ 25
P, pO 4198+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nui 3y3e+u4 / 25
e, pO 4192+ 0.0
pL -34.74+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

-1 nu guse+u4 / 25
po 4238+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (3,7,13

1

= po

1.be+ud /25
4207+ 0.0
-34.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

K™ 1 nuipule+ud /25
_- po 4214+ 0.0
L pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

T b r1e+u4 /25
- pO 4210+ 0.0
[ pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

1 nuiz.49pe+04 / 25
= po 4253+ 0.0
- pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (3,7,14

pD
pl

~ 1 nuiLbEYe+U4 / 25
4207+ 0.0
-34.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT 1 nuiLbole+ud [ 25
=3 po 4214+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

- nui bYe+u4 / 25
- pO 4224+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

T uze+u4/25
= po 4252+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

T nan 1 oye+ud [ 25
4214+ 0.0
-35.41+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

AT 1nuio1se+u4 /25
., po 4217+ 0.0
pl -37.31+ 0.00

TP delay [ns]

TVC(cbch) (3,84

- 1 nuiLayse+04 / 25
pO 4220 0.0
353+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 8,8

©1nuz.bs4e+04 [ 25
po 4247+ 0.0
pl -38.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,812

T i, r49e+04 / 25
pO 4236+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

X" 1L d1ze+ud | 25
., po 4195+ 0.0
pL -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

-1 3/0e+04 / 25
pO 4207+ 0.0
pL -35.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 8,9

~ 1 nu.p48e+u4 / 25
po 4263+ 0.0
pl -37.56 + 0.00

TP delay [ns]

TVC(cbch) (3,8,13

T nuiLproe+ud [ 25
pO 4232+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

2000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (3,8,2)

1000

AT 1nui4sse+04 /25
- po 4198+ 0.0
L pl -35.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

- bz3e+04 [ 25
4216+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (3, 8 10

1000

0

T rnuzgole+ud | 25
- po 4269+ 0.0
o pl -37.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,814

Ty rae+u4 /25
- pD 4229+ 0.0
[ p1 -36.32+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1 nuiLozye+ud [ 25
e, po 4228+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

-1 nui 4n3e+04 / 25
- pO 4237+ 0.0
pL -36.09+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

ERALER b‘Jée+U4/25
- po 4273+ 0.0
pl -38.04 + 0.00

TP delay [ns]

TVC(C, bch) (3,8,15

T nai rs3e+ud [ 25
e po 4240+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



TVC(cbch)(390) TVC(cbch)(391) TVC(cbch)(392) TVC(cbch)(393)
AT g zse+u4 [ 25 A~ 1w buye+ud [ 25 AT 1L rz4e+04 | 25 A~ Bzye+ud | 25
4000 fmm,, po 4212+ 0.0 4000 fe,, po 4229+ 0.0 4000 fm, PO 4229+ 0.0 4000 fRe, PO 4227+ 0.0
pl -35.44 + 0.00 pl -35.94+ 0.00 F pl -35.72+ 0.00 pl -34.87 + 0.00

3000

E 3000 - 3000 - 3000 4

2000 -1 2000 = 2000 = 2000

1000 E 1000 B 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39, TVC(cbch) (39,6 TVC(c, bch) (39,

T b)b\:)eﬂJA 125 Trnur S)ZSE+U4/25 Trnug, l)aﬁeﬂjd 125 Tonan 2/bE+UA/25
4000 [, pO 4206+ 0.0 4000 [, pO 4214+ 0.0 4000 e, pO 4229+ 0.0 4000 fs pO 4239+ 0.0
Pl -34.89% 0.00 Pl -35.95% 0.00 I PL_ 3585+ 0.00 Pl -34.96% 0.00
3000 ] 3000 — 3000 ] 3000 g
2000k ] 2000 B 2000 ] 2000 1
1000 C q 1000 7] woor C = 27.90 [ps/ch ] woor C = 28.60 [ps/ch] ]
1 ' 1 [ 1 -
50 100 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3,9, 11)
T rnug.b31e+u4 / 25 <1 nuiLguse+us / 25 1 nuig.gy4e+u4 | 25 T nuzgloe+ud [ 25
4000 o, pO 4213+ 0.0 4000 pO 4226+ 0.0 4000 fo DO 4247+ 0.0 4000 o, p0 4254+ 0.0
pl -34.83+ 0.00 pl -35.41+ 0.00 F pl -34.82+ 0.00 pl -35.87 + 0.00

-1 3000

3000 N 3000 - 3000 1

2000 1 2000 2000 ] 2000

1000 ] 1000 1000F 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(cbch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

Tz, 1pse+ud / 25 Trwz.z1/e+u4 [ 25 T szie+u4 [ 25 T g/ze+u4 [ 25
4000 fe, pO 4268+ 0.0 4000 [ pO 4246 00 4000 [, PD 4253+ 0.0 4000 [, pO 4245 00
Pl -36.46+ 000 Pl -36.62+0.00 L Pl -37.74%0.00 Pl -36.87+0.00

- 3000

3000 .

— 3000 - 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T Love+ud /25
.. pO 4216+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(cbch) (3,10,4

-1z 1o5e+04 / 25

e, pO 4203+ 0.0
pl -36.67:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

T rnuiLyroe+u4 [ 25
- pO 4248+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (310,12

T/ re+04 /25
= po 4232+ 0.0
pl -34.86 + 0.00

TP delay [ns]

TVC(chh) (3,10,1)

4000 [ po

A1 L41e+ud ] 25
4219+ 0.0
pL -37.82:+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (3,10,5

4000 S

[ns]

-1 nuiylge+ud / 25
4210+ 0.0
pl -36.67 + 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (3, 10

4000 faem po

[ns]

~ 1 nug. ruze+ud 25
4262+ 0.0
pl -36.52 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (310,13

4000 e,

[ns]

T 1 nuiLpuse+ud / 25
4231+ 0.0
-34.19+ 0.00

3000

2000 -

100 C = 29.25 [ps/ch]

PR U S S |
50 100

TP delay

[ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000
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= pO 4210+ 0.0
p1 -36.94 + 0.00

50 10‘0
TP delay [ns]
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1 nuz.4o9e+04 | 25
= po 4223+ 0.0
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-1 nui byle+ud / 25
pO 4212+ 0.0
pL -36.18+ 0.00

TP delay [ns]
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T nug.34ze+04 / 25
po 4255+ 0.0
pl -36.32 + 0.00
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pl -36.17 + 0.00
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pO 4218+ 0.0
pl -36.26+ 0.00

TP delay [ns]
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po 4252+ 0.0
pl -35.89+ 0.00
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pl -36.23+ 0.00
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-1 nui 2yle+u4 / 25
pO 4193 0.0
pL -36.63+ 0.00

TP delay [ns]
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-1 nuig.zyve+ud | 25
po 4210+ 0.0
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=1 nui 4nbe+04 / 25
- pO 4204+ 0.0
pL -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

T dbie+l}4/25
= po 4228+ 0.0
p1 -34.74.+ 0.00

TP delay [ns]

TVC(C, bch) (4,815

T inuizyle+ud [ 25
= pO 4203+ 0.0
p1 -34.79.+ 0.00

TP delay [ns]



TVE(ED.Ch)=(4,9,0) TVe(EDCh)=(4,9, 1) TVC(EDCh)=(4,9,2) TVeEDe)=(4,9,3)
AT i 3o4e+04 / 25 A~ 1w 3use+ud | 25 AT 1L 431e+04 /25 AT 3z3e+U4 | 25
4000 fe,, po 4228+ 0.0 4000 fmm,, po 4226+ 0.0 4000 fm, po 4231 0.0 4000 e, po 4251+ 0.0
pl -36.48 + 0.00 pl -36.58 + 0.00 r pl -36.78 + 0.00 pl -37.05+ 0.00
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~ 1 nuiL494e+04 / 25 T 333e+04 / 25 ~ 1 nuiL pyle+ud / 25 - B1ze+ud [ 25
4000 pO 42131 00 4000 pO 42212 0.0 4000 fe, pO 4242+ 0.0 4000 e, pO 4249+ 0.0
Pl -36.43: 000 Pl 3587000 L PL_ -37.25:0.00 Pl -37.14% 000
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-- - --
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S, l)UAe+U4 125 T, z?::/e+u4/25 S| b23e+04/25 T 1/218‘*[]4/25
4000 pO 4217+ 0.0 4000 4237+ 0.0 4000 4238+ 0.0 4000 4246+ 0.0
Pl -34.86+ 0.00 -34.38+ 0.00 L 335+ 0.0 34.4% 0.0
3000 B 3000 E 3000 ] 3000 E
2000 N 2000 |- E 2000 [ ] 2000 B
1000 B L 4 [ i [ ]
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1 1 - [ 1 1 ~- E 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,9,12 TVC(cbch) (4,9,13 TVC(cbch) (4,9,14 TVC(C, bch) (4,9,15

T L, r4e+04 / 25 Tinuin/ze+ud [ 25 T rnuiLb1ze+04 /25 T inuiaioe+ud [ 25
4000 pO 4242+ 0.0 4000 pO 4243+ 0.0 4000 4227+ 0.0 4000 o, pO 4247+ 0.0
pl -35.82+ 0.00 pl -36.07 + 0.00 F -34.06 + 0.00 pl -35.38+ 0.00

3000 4 3000 5 3000} ] 3000 ]
2000 E 2000 — 2000 ] 2000 E
1000 ] 1000 B 1 1 1000 ]
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- - <4
-
1 L
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pl -35.18+ 0.00

TP delay [ns]

TVC(cbch) (4,104

pO

- i 196e+04 / 25
4211+ 0.0
pl -35.15+ 0.00

TP delay

TVC(cbch) (4, 10 8

- pD

[ns]

T nuig.zyoe+u4 | 25
4218+ 0.0
pl -36.27 + 0.00

TP delay
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4247+ 0.0
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AT rnunLasze+ud [ 25
4185+ 0.0
-35.03+ 0.00
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TP delay [ns]

TVC(c, bch) (4,10,5

-1 nui 194e+04 / 25
4204+ 0.0
-34.95+ 0.00

TP delay [ns]

TVC(ebeh)=(4, 10,9

e, po

pl

Tinug.s1/e+u4 /25
4239+ 0.0
-36.28 + 0.00

TP delay [ns]
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pO
p1

Tanaizr3e+ud [ 25
4256+ 0.0
-35.98 + 0.00
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[ns]

S rnunLz8/e+u4 [ 25
4226+ 0.0
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5(') 10'0 =
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1000

0
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T nuz 3y3e+ud | 25
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pl -37.18 + 0.00
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4249+ 0.0
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TVC(c, bch) (4,10,7
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[ns]

44.47 125
4217+ 29
-35.03  0.06

TP delay

TVC(ehch)=(4, 10, 11

e pO
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~inui rble+ud / 25
4257+ 0.0
pl -35.75+ 0.00

TP delay
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[ns]
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4229+ 0.0
pL -35.62:+ 0.00
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TVC(cbch) (4,11,8

T z.45e+04 /25
- pO 4224+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 12

X~ 1L rube+u4 / 25
= po 4237+ 0.0
pl -36.56 + 0.00

TP delay [ns]
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4177+ 0.0
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w0l C = 29.93 [ps/ch]

1 1
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TVC(cbch) (4,11,6
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TVC(e.b,ch)=(4, 11, 10

X~ 1 nuizpyge+ud [ 25
- po 4249+ 0.0
L pl -34.97 + 0.00
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- po 4226+ 0.0
L pl -35.31+ 0.00
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1 1
50 100
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[ns]

-1 nuib/oe+u4d / 25
4249+ 0.0
pl -36.42 + 0.00

TP delay

TVC(cbch) (4, 11 11

e pO

[ns]

T nui g3be+u4 [ 25
4251% 0.0
pl -35.71+ 0.00

TP delay

TVC(c, bch) (411,15

[ns]

T inuia18e+u4 / 25
4224+ 0.0
p1 -35.24 + 0.00

TP delay

[ns]
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TVC(cbch) (4,124

- i zo3e+ud | 25
[, PO 4202+ 0.0
pl -36.82+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 12 8

©nuiLyuse+u4 / 25
= po 4198+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (412,12

T rnuiLb41e+04 /25
pO 4213+ 0.0
pl -35.97 + 0.00
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=1 nui 3bpe+u4 / 25
e, pO 4206+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c, bch) (412,9

T nuig s ve+ud /25
= po 4212+ 0.0
p1 -36.44 + 0.00
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- Tinuipz/e+ud [ 25
- pO 4195+ 0.0
pl -35.47 + 0.00
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= po 4191+ 0.0
o pl -33.93+ 0.00

TP delay [ns]

TVC(epeh)=(4, 12, 10

©1nuiz18be+u4 | 25
po 4239+ 0.0
pl -35.93+ 0.00
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-1 bape+u4 / 25
- pO 4219+ 0.0
pL -36.55+ 0.00
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TP delay [ns]

TVC(c, bch) (4, 12 11

T nuiyle+ud [ 25
e pO 4234+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(cbch) (4,12,15

- T inuipole+ud [ 25
pO 4203+ 0.0
-35.28 + 0.00

TP delay [ns]
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2000

1000

T 1 nuiL3use+u4 / 25
e, PD 4268+ 0.0
-34.06 + 0.00

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,13,1)

AT rnuzLrse+ud [ 25
[imsn, po 4281+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(c, bch) (4,135

S nun1.42e+04 /25
[, pO 4216+ 0.0
pL -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4,13,9

e, pO

1 4.2e+04 /25
4303+ 0.0
pl -35.71+ 0.00

[ C =29.36 [ps/ch]

0

50

1
100

4000

2000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (4,13,2)

1000

X~ 1wz ssve+U4 [ 25
e, po 4297+ 0.0
[ Pl -37.41% 0.00

3000

TP delay [ns]

TVC(cbch) (4.13,6

T rnuiLa4/e+04 [ 25
pO 4246+ 0.0
pl -37.08:+ 0.00

TP delay [ns]

TVC(cbch) (4, 13 10

T nuiLY/be+ud | 25
[~ DO 4315+ 0.0
[ pl -35.11+ 0.00

- C = 28.48 [ps/ch]

0

50

1
100

4000

3000

2000

1000

TP delay [ns]

TP delay [ns]

TVC(cbch) (4,13, 12

== pO

p1

~rnuiL4zve+u4 [ 25
4233+ 0.0
-34.99+ 0.00

TP delay [ns]

TVC(C, bch) (4,13,13

2zoe+ud | 25
4237+ 0.0
-35.17+ 0.00

PSRy

4000 jam 00
p1

3000

2000

1000

TP delay [ns]

4000

3000
2000

1000

TP delay [ns]

TVC(cbch) (413,14

- PD

~1nuiLb44e+04 / 25
4242+ 0.0
-35.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,13,3)

AT 1 nuzusYe+u4 / 25
PO 4307+ 0.0
p1 -36.55+ 0.00

TP delay [ns]

TVC(c, bch) (4,137

-1 nu zoge+u4d / 25
- PO 4258+ 0.0
pL -37.16+ 0.00

50 100
TP delay [ns]

TVC(eb.eh)=(4, 13, 11)

ess, pO

ut 3125/ 25
4317+ 0.0
pl -34.99 + 0.00

[ C =28.58 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (4,13,15

= pO

Tnai srze+u4 /25
4250+ 0.0
-35.39+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 14 0)

T rnug.zz9e+U4 [ 25
P oeea. pO 4238+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (4,144

T i z33e+04 / 25
pO 4243+ 0.0
pl -36.08:+ 0.00

TP delay [ns]

TVC(cbch) (4, 14 8

~nuig, r11e+ud | 25
- pD 4204+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (4,14,12

Tz 194e+04 / 25
- po 4284+ 0.0
p1 -37.3% 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,14,1)

AT 1 nuzozoe+ud [ 25
oane po 4231+ 0.0
pl -35.5+ 0.0

1 1
50 100

TP delay [ns]

TVC(c, bch) (4,145

-1 nui 4bze+04 / 25
- pO 4255 0.0
pL -36.86+ 0.00

TP delay [ns]

TVC(c, bch) (4,14,9

Tinu1ule+us/ 25
= po 4235+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(C, bch) (414,13

TinuiLg3e+ud [ 25
- pO 4269+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

:

:

1000;- C =28.89 [ps/ch] - ‘
! + s

4000

3000
2000

1000

TVC(CbCh) (4,14,2)

- C = 28.18 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (4,146

A7 1 nugnsoe+ud /25
- po 4241+ 0.0
[ pL -35.49 + 0.00

S rnu15/e+04 /25
- pO 4248+ 0.0
[ pl -35.77+ 0.00

TP delay [ns]

TVC(cbch) (4,14, 10

T nuzprbe+ud | 25
= po 4236+ 0.0
L pl -34.62 + 0.00

TP delay [ns]

TVC(CbCh) (4, 14 14

1 nuiLyype+u4 / 25
- pD 4259+ 0.0
L pl -36.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,14,3)

A1 s3ae+Ud [ 25
- po 4234+ 0.0
pL -34.75+ 0.00

TP delay [ns]

TVC(c, bch) (4,14,7

-1 nui b4e+04 / 25
- pO 42774 0.0
pL -35.95+ 0.00

TP delay [ns]

TVC(c, bch) (4, 14 11

T nuzb1oe+u4 [ 25
= po 4235+ 0.0
p1 -34.56 + 0.00

[ C =28.94 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4,14,15

Tinuiz1g/e+ud [ 25
- pO 4262+ 0.0
p1 -35.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (4, 15 0)

T Lole+ud /25
pO 4198+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (4,154

T L 374e+04 / 25
pO 4193+ 0.0
pl -35.59+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 15 8

Tz 3z0e+04 | 25
PD 4220+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(cbch) (4,15, 12

Tz pyse+ud | 25
pO 4222+ 0.0
pl -34.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4, 15 1)

- rbzeUd [ 25
pO 4183+ 0.0
pL -36.23+ 0.00

TP delay [ns]

TVC(c, bch) (4,155

-1 nui139e+04 / 25
pO 4204+ 0.0
pL -35.58+ 0.00

=

TP delay [ns]

TVC(c, bch) (4, 15 9

~ 1 nui 3oge+ud / 25
po 4245+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(C, bch) (415,13

T nuiz zoye+ud | 25
pO 4223+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4, 15 2)

TP delay [ns]

TVC(cbch) (4.15,6

Tz 1rze+04 /25
Freee pO 4209+ 0.0
- pl -36.52+ 0.00

3000

T rnunL4/3e+04 [ 25
- pO 4216+ 0.0
[ pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (4, 15 10

1000

0

~1nuizuLse+ud / 25
- po 4243+ 0.0
L pl -36.48 + 0.00

TP delay [ns]

TVC(cbch) (4,15, 14

~1nuz syse+ud | 25
- pD 4231+ 0.0
L p1 -37.36+ 0.00

TP delay [ns]

TVC(Cbch) (4,15,3)

4000 [u

3000

2000

1000

AT rnuiLr3re+ud [ 25
po 4211+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c, bch) (4,157

4000 (S

3000

2000 -

1000 C

-1 nui 4u1e+04 / 25
pO 4212+ 0.0
pL -35.75+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(4 15, 11

4000 [Gue.

3000

2000

1000

-1 nuiL oyoe+u4 / 25
po 4253+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (4,15,15

4000 [u.

3000

2000

1000

Tinuizagie+ud [ 25
po 4218+ 0.0
p1 -35.16+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,0,0)

X~ 1w 49ve+U4 [ 25
Y 4178+ 0.0
pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (50,4

T L4 r9e+04 / 25
pO 4196+ 0.0
pl -35.76 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (5 0,8

- rnus.0ure+u4 [ 25
PD 4198+ 0.0
pl -34.65+ 0.00

TP delay [ns]

TVC(cbch) (5,0,12

[ C =29.43 [ps/ch]

TonuiL r31e+u4 / 25
PO 4204+ 0.0
pl -33.98 + 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,0,1

AT rnunr1se+ud [ 25
o, po 4174+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (5 0,5

S nun1.b4e+04 [ 25
4201+ 0.0
-35.4 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 0,9

oo gor1e+u4 | 25
= pO 4224% 0.0
Pl -35.22: 0.00

TP delay [ns]

TVC(cbch) (50,13

T 1 48e+u4 [ 25
F= PO 4197 0.0
pl -32.91+ 0.00

[ C=30.38 [ps/ch] ™. ]
TP delay [ns]

TVC(cbch) (5,0,2)

4000

2000

1000

TP delay [ns]

TVC(cbch) (50,6

4000

3000

2000

1000

X~ 1w sole+U4 /25
[oeee, po 4183+ 0.0
I pl -35.26 + 0.00

3000

- i bzoe+u4 / 25
- pO 4201+ 0.0
I pl -35.58:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 0 10

4000

3000

2000

1000

T nuigb3ve+u4 | 25
DO 4225+ 0.0
pl -33.75+ 0.00

- C =29.63 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (5,0,14

4000

3000

2000

1000

T, ruse+u4 / 25
4211+ 0.0
-33.33+ 0.00

- C =30.01 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,0,3

R- i 7are+04 [ 25
- Y 4197+ 0.0
pl -34.58 + 0.00

TP delay [ns]

TVC(c,b ch) (5 0,7

-, ryse+ud [ 25
- PO 4226+ 0.0
Pl 3593 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, O

T, 414e+u4/25
- pO 4236+ 0.0
pl -34.45+ 0.00

[ C=29.03 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (50,15

-1 bybe+u4 / 25
- pO 4195+ 0.0
pl -32.74 + 0.00

[ C=30.54 [ps/ch] ™ 1
TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,0

A7 1 nui oove+u4 / 25
- po 4184+ 0.0
pl -36.86+ 0.00

TP delay [ns]

TVC(cbch) (51,4

T LBy /e+ud [ 25
s, pO 4180+ 0.0
pl -35.88:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 1,8

T 1nuz.430e+04 [ 25
= po 4207+ 0.0
pl -34.58 + 0.00

TP delay [ns]

TVC(cbch) (51,12

Trnug5r1e+04 /25
= po 4195+ 0.0
pl -34.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,1

AT rnuLssle+ud /25
P e po 4165+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (5 1,5

-1 nuz.018e+u4 / 25
E pO 4188+ 0.0
pL -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 1,9

T nu, r29e+04 [ 25
4208+ 0.0
-34.6 £ 0.0

TP delay [ns]

TVC(cbch) (51,13

~ 1 nuiz.quse+ud | 25
= pO 4193+ 0.0
pl -35.38+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (5.1,2)

AT 1nui 71oe+04 /25
po 4183+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (5.1,6

-1 nuz,018e+u4 / 25
pO 4191 0.0
pl -35.63+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (5, 1 10

T, r31e+04 /25
DO 4244+ 0.0
pl -35.11+ 0.00

TP delay [ns]

TVC(cbch) (51,14

T 1nuizazoe+04 [ 25
pD 4206+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,3

AT 1z izie+ud [ 25
F po 4202+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (5 1,7

- 1nu 1b8e+u4 / 25
- pO 4199+ 0.0
pL -35.88+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, l

AN bbze+u4/25
= 4236+ 0.0
-33.76 + 0.00

[ C=29.62[ps/ch] ~. ]

1
50 100

TP delay [ns]

TVC(cbch) (51,15

T 1 nuiz.agse+ud [ 25
= pO 4207+ 0.0
p1 -35.46 + 0.00

TP delay [ns]



TVE(ED.Ch)=(5,2,0) TVE(EDCh)=(5,2,1) TVE(ED.Ch)=(5,2, 2) TVE(EDe)=(5,2, 3)
A” 1L brse+ud [ 25 AT B31e+ud / 25 A~ 11w buse+ud [ 25 A~ rna ] pe+ud /25

4000, PO 4209% 0.0 4000 ., po 4207+ 00 4000 [, PO 4237+ 00 4000 po 42245 00
pl -35.44 + 0.00 pl -34.9 + 0.0 o pl -35.99 + 0.00 pl -34.35+ 0.00

- 3000

3000 4 3000 B 3000 [

2000 1 2000 B 2000 . 2000 - 1
[ 1 L]
1000 . 1000 ] ] woF C = 29.11 [ps/ch] ]
L 1 o . -
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (52,4 TVC(cbch) (52, TVC(cbch) (5.2,6 TVC(c, bch) (52,

“ g \J)uaeﬂJA 125 “rnarg, /)EhE+U4/25 “ g y)yuewd 125 T nar B)U4E+l)4/25
4000 pO 4200+ 0.0 4000 =, 4209+ 0.0 4000 = pO 4216+ 0.0 4000 fes pO 4227+ 0.0
Pl -34.33% 0.00 -33.28:+ 0.00 [ Pl -34.08+ 0.00 pl -34.71% 0.00

3000~ g 3000 f ] 3000 ] 3000 -

2000 E 2000 ] 2000 ] 2000 4

-
[ J [ ] 1000 - = -
1000~ C =29.13 [pS/Ch] . wol © = 30.04 [pS/Ch] _ 10001~ C = 29.34 [pS/Ch] . . C=28.81 [pS/Ch] -
1 1 - 1 1 - [ 1 1 - _1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(5,2,8) TVC(eh.e=(5,2,9) TVC(eb.ch=(5, 2, 10) TVC(ebe)=(5, 2, 11)
T nug.41ze+04 / 25 - i 1uge+us / 25 T nug,s83e+u4 / 25 ~ru.49be+u4 [ 25
4000 [, pO 4233+ 0.0 4000 fae, pO 4258+ 0.0 4000 fome, DO 4267+ 0.0 4000 fs p0 4265+ 0.0
Pl -36.18% 0.00 Pl -35.81% 0.00 [ PL_ 3572+ 0.00 Pl 3549+ 0.00

3000

N 3000 - 3000 - 3000

2000 T 2000 - 2000 N 2000

1000 ] 1000 B 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5,2, 12 TVC(cbch) (5,213 TVC(cbch) (5.2 14 TVC(C, bch) (52,15

1 nuiz,ugoe+ud | 25 T inuz 138e+ud [ 25 T rnuizurve+ud | 25 T nuizusse+ud [ 25
4000 e pO 4224+ 0.0 4000 4225+ 0.0 4000 o, PD 4209+ 0.0 4000 o pO 4221+ 0.0
pl -35.13+ 0.00 -34.26 + 0.00 r pl -34.45+ 0.00 pl -34.75+ 0.00

3000 T 3000 - -1 3000 -1 3000 1
2000 T 2000 - - 2000 -1 2000 T
1000 1 - - [ —- 1000 1

oor C =29.18 [ps/ch] ™, tooop

. [

. [

P BT I
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (5,3,0)

K™ 1 nui bbse+ud / 25
4178+ 0.0
-35.72+ 0.00

TP delay [ns]

TVC(cbch) (53,4

- rnuLy3le+ud / 25
4197+ 0.0
-35.84 + 0.00

F pO
p1
3000 ]
2000 = ]
1000 C 7
1 1 "
50 100
TP delay [ns]
TVC(cbch) (5 3,8)
©nuiLs30e+U4 / 25
4000 [, pO 4206+ 0.0
pl -34.3+ 0.0
3000 - 7
2000 = 7
o C =29.16 [ps/ch] ™, ]
1 1 -
b 50 100
TP delay [ns]
TVC(c,b ch) (5, 3 12)
- 11 4.0ve+ud | 25
4000 [, po 4245+ 0.0
pl -35.89+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3,1)

Fome, po

pl

AT 1 nuiLbose+ud [ 25
4183+ 0.0
-34.88 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5 3,5

-1 nui 8Ye+u4 [ 25
4208+ 0.0
-36.77 + 0.00

TP delay [ns]

TVC(c,b ch) (5 3,9

= po
pl

T nup.413e+04 / 25

4207+ 0.0
-33.29+ 0.00

[ C =30.04 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (53,13

Tinusysle+ud / 25
4231+ 0.0
-36.28 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,3,2)

A1,

[oese po

pl

ruve+u4 [ 25
4203+ 0.0
-35.53+ 0.00

TP delay [ns]

TVC(cbch) (53,6

- rnunB13e+u4 / 25
4220+ 0.0
-35.6+ 0.0

TP delay [ns]

TVC(cbch) (5, 3 10

-,
- "0
pl

ro4e+04 /25
4240+ 0.0
-34.85+ 0.00

TP delay [ns]

TVC(cbch) (5,3 14

Trnugsye+u4 [ 25
4229+ 0.0
-35.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3,3)

po
pL

AT 1 nuiLBbae+U4 [ 25
4204+ 0.0
-35.66 + 0.00

100

TP delay [ns]

TVC(c,b ch) (5 3,7

feme pO
pl

-1 nui Yoae+u4 / 25
4244+ 0.0
-36.63 % 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5, 3

T 9//e+u4/25
4252+ 0.0
-34.6 £ 0.0

I C =28.90 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (53,15

e pO
p1

-1 nug.qpye+ud / 25
4239+ 0.0
-35.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,4,0

A7 nui suse+ud [ 25
P po 4179+ 0.0
p1 -34.61+ 0.00

TP delay [ns]

TVC(cbch) (54,4

=i 14 e+04 ] 25
P, pO 4192+ 0.0
p1 -34.66 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 4,8

T 1nuz.za4e+04 | 25
= po 4210+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (5,4, 12

T gre+u4 [ 25
== po 4203+ 0.0
pl -35.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (54,1

AT rnuLsuLe+ud /25
=N po 4171% 0.0
pl -33.74+ 0.00

[ C =29.64 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 4,5

-1 nui 3yge+u4 / 25
e, pO 4200+ 0.0
pL -35.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,9

T inup.1y/e+ud [ 25
po 4248+ 0.0
pl -36.32 + 0.00

TP delay [ns]

TVC(cbch) (54,13

<1 nuiL bgoe+ud / 25
- pO 4211+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,4,2)

K™ 1 nui ivoe+u4 / 25
P po 4182+ 0.0
L pl -35.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (54,6

T rnuiL4z1e+04 [ 25
- pO 4221 0.0
[ pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (5, 4 10

T nuizusle+ud [ 25
F po 4246+ 0.0
- pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (5,414

~ i, rove+u4 [ 25
= pD 4205+ 0.0
L p1 -34.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3

A 1L 3aae+ud | 25
- po 2195+ 0.0
pL -34.54+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

-1 nui 3b4e+u4 / 25
- pO 4215+ 0.0
p1 -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 4

T yaze+u4/25
= pO 4264+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(C, bch) (54,15

T nui pzze+ud [ 25
= pO 4205+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,5,0

K™ nui 1use+ud / 25
. po 4185+ 0.0
pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (55,4

-1 i 38be+u4 / 25
e pO 4183+ 0.0
pl -36.15+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 5,8

T gz roe+u4 [ 25
4223+ 0.0
-36.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5,5, 12

~ 1L 5use+u4 / 25
= po 4225+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,51

AT rnuLs1ve+ud [ 25
.. po 4204+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (5 55

“nu b rze+u4 [ 25
e, pO 4190+ 0.0
pL -36.27+ 0.00

TP delay [ns]

TVC(c,b ch) (5 59

-1 nuw.yyae+ud 25
- pO 4242+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(cbch) (5,5,13

T inuipz1e+ud / 25
- pO 4222+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (5,5,2)

A7 nun ssae+04 /25
- po 4186+ 0.0
[ p1 -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

© 1 nuiL5Yse+u4 / 25
- pO 4185+ 0.0
F Pl 3652+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

T rnuzgole+ud [ 25
==, po 4235+ 0.0
I pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

~ 1 nuiLpyse+ud / 25
- pD 4231+ 0.0
[ p1 -36.58 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

AT 1L oose+ud [ 25
=3 po 4211+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (5 57

-1 nur bgse+u4 / 25
e, pO 4217+ 0.0
pL -37.19+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 5

T abbe+u4/25
e pO 4246+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(C, bch) (5.5,15

T inui ss1e+u4 / 25
4225+ 0.0
-35.81+ 0.00

PR I S S |
50 100

TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561) TVC(cbch)(562) TVC(cbch)(563)
A7 1 nuisupe+u4 / 25 AT rnuLoloe+ud /25 AT inuirz1e+04 /25 AT 1 nuiLoy4e+u4 [ 25
4000 [Fowe, PO 4181+ 0.0 4000 P po 4173+ 0.0 4000 _=- po 4193+ 0.0 4000 [ po 4200+ 0.0
pl -34.85+ 0.00 pl -34.48 + 0.00 F pl -34.51+ 0.00 pl -34.92+ 0.00

- 3000

3000 E 3000 [ - 3000 4

2000 4 2000 [ - 2000~ - 2000

1000 ] ol C = 29.00 [ps/ch] ] wol ¢ = 28.97 [ps/ch] ]
% e : & ] % 4
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (56,4 TVC(cbch) (56,5 TVC(cbch) (56,6 TVC(c, bch) (56,7

- i b34e+04 / 25 4000 - rnur byle+ud [ 25 - i ro8e+u4 [ 25 “nu /15e+04 / 25
4000, PO 4192+ 0.0 [, DO 4189+ 0.0 4000 F 4209+ 0.0 4000 e, PU 4198+ 0.0
pl -35.34+ 0.00 pl -35.66 + 0.00 I -36.3+ 0.0 pl -35.16+ 0.00

3000 - 3000 - 3000 - 3000 1
2000~ E 2000 - 2000 ' 2000 [ E
1000 C ] 1000 E 10007 ] woor C = 28.45 [ps/ch ]
1 1 " o 1 1 - 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(5,6,8) TVC(eb,oh)=(5,6,9) TVC(eb.ch)=(5, 6, 10) TVC(e.beh)=(5, 6, 11)
T 1/1e+04 /25 T nuiL 1z28e+U5 / 25 Trnuig1p1e+u4 / 25 T nuzysle+ud / 25
4000 f, PD 4214+ 0.0 4000 fo, DO 4233+ 0.0 4000 __- DO 4248+ 0.0 4000 o, pO 4237+ 0.0
pl -34.57 + 0.00 pl -34.45 + 0.00 r pl -35.65+ 0.00 pl -34.49 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 B 2000 [ E 2000 2000 [

1000 1000

] woo C = 29.03 [ps/ch] wor C = 29.00 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (5,6, 12 TVC(cbch) (5,6,13 TVC(cbch) (56,14 TVC(C, bch) (5,6, 15

© L gose+u4 / 25 Tinai31e+u4 /25 T rg1e+u4 / 25 T nui gzoe+ud [ 25
41000 o, PO 4233+ 0.0 4000 b, PO 4227+ 0.0 4000 - PD 4230+ 0.0 4000 po, PO 4236+ 0.0
pl -36.38 + 0.00 pl -36.34+ 0.00 r pl -36.72+ 0.00 pl -36.73+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(570 TVC(cbch)(571 TVC(cbch)(572) TVC(cbch)(573

X~ 1 suze+U4 [ 25 AT rnuiL3r/e+u4 [ 25 X~ 1L bspe+U4 [ 25 AT 1 nuiLgzze+04 [ 25
4000 4213+ 0.0 4000, po 4227+ 0.0 4000 fm PO 4232+ 0.0 4000 fr, PO 4250 0.0
-35.11+ 0.00 pL -35.69 £ 0.00 L pl -35.1% 0.0 pL -35.62+ 0.00
3000 — 3000 B 3000 o 3000 E
2000 — 2000 1 2000 ] 2000 7
. 1000 - [ ~ _ ] 1000 -
1000 wol C = 28.49 [ps/ch ]
- [ -
- -
1 1 1 1 L 1 1 1 1 1
50 100 50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (57,4 TVC(cbch) (5.7, TVC(cbch) (57,6 TVC(c, bch) (5.7,

“ g 2Ue+UA 125 Sornar i)bhE*U4/25 ~ g t?lbeﬂjd 125 T nar b)/dE+04/25
4000 pO 42445 00 4000 e, pO 4247100 4000 fem, pO 42451 0.0 4000 fr, pO 42521 0.0
Pl -35.22%000 Pl -35.52% 000 [ Pl -35.74% 000 Pl -35.45%000
3000 ] 3000 - 3000 5 3000 | 4
2000 ] 2000 - 2000~ . 2000 ]
1000 ] 1000 ] wor C = 27.98 [ps/ch ] woF C = 28.21 [ps/ch ]
1 L - 1 -
50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 7,8 TVC(cbch) (5 7,9 TVC(cbch) (5, 7 10 TVC(cbch) (5, 7

©1nu.s45e+04 [ 25 -1 149e+05 / 25 ~ 1 nug,ubye+ud / 25 T2 Uze+u4/25
4000 B po 4222+ 0.0 4000 pO 4248+ 0.0 4000 e, po 4269+ 0.0 4000 o, p0 4261 0.0
Pl -36.28% 0.00 Pl -36.58+ 0.00 I PL_ -36.37%0.00 Pl 3549+ 0.00

3000

1 3000 -1 3000 =1 3000 -

2000 B 2000 = 2000 2000

1000 -1 1000

T 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(57l ) TVC(cbch)(5713) TVC(cbch)(57l ) TVC(cbch)(5715)
T rnuiLysse+u4 / 25 T inai rb3e+ud / 25 T, rzoe+u4 | 25 T nui rope+ud [ 25
4000 pO 4268+ 0.0 4000 pO 4278+ 00 4000 fomm PD 4271£ 00 4000 fam, pO 4274% 00
pl -35.73+ 0.00 pl -36.6 + 0.0 F pl -36.02+ 0.00 pl -36.27 + 0.00

- 3000

3000 1 3000 -1 3000 .

2000 - 2000 T 2000 E 2000

1000 ] 1000 T 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(580 TVC(cbch)(581 TVC(cbch)(582) TVC(cbch)(583

X~ 1 sore+U4 /25 A7 1 nuiL4uge+ud [ 25 X~ 451e+04 /25 AT nuiL3sse+u4 [ 25
4000 4199+ 0.0 400, PO 4206+ 0.0 400, po 4211+ 0.0 4000 [ PO 4210+ 0.0
-36.31+ 0.00 pL -36.15+ 0.00 L pl -35.25+ 0.00 pL -35.48  0.00

3000 |- - 3000 - 3000 -_ _- 3000 E
2000 E 2000 - 20001 ] 2000 —
1ok C 1 ] w0l C = 28,37 [ps/ch . 1
1 1 ~- 0 L I . . " N |
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (5 8,4) TVC(c,b Ch) (5, 8 ) TVC(c,b Ch) (5 8,6) TVC(c,b Ch) (5 8,7)
T i Bz1e+04 / 25 ~ i, r44e+04 | 25 ~ UL y3ye+u4 [ 25 - y3sie+ud [ 25
4000 pO 4227+ 0.0 4000 pO 4217+ 0.0 4000 = pO 4228+ 0.0 4000 [ pO 4242+ 0.0
Pl 3563+ 0.00 Pl 3517+ 0.00 I PL_ 3473+ 0.00 Pl -35.31% 0.00

3000

- 3000 - 3000 - -1

. 3000

2000 7 2000 - 2000 - 2000 -

1000 E 1000 4 1000

. wof C = 28.32 [ps/ch .

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch)=(5,8,8) TVC(e.c)=(5,8,9) TVC(eb.ch)=(5, 8, 10) TVC(ebeh)=(5,8,11)
© i 535e+u4 / 25 ~ 1 nug. ggbe+u4 / 25 T 1nu.az5e+04 [ 25 T bre+u4 /25
4000 fo pO 4225+ 0.0 4000 fom pO 4245+ 0.0 4000 [, DO 4265+ 0.0 4000 [ p0 4257+ 0.0
Pl -35.71% 0.00 Pl 3574000 [ PL_ -35.94% 0.00 Pl 34.77 000

3000

E 3000 E 3000 E 3000 f

2000 B 2000 - 2000 2000 -

1000 . 1000 -1 1000

lo00F C = 28.76 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5,812 TVC(cbch) (5.8,13 TVC(cbch) (5,814 TVC(C, bch) (5.8,15

TanuiL ryre+ud [ 25 T zge+u4 | 25 T ozze+V4 [ 25 T s 3ye+u4 [ 25
41000 o, pO 4222+ 0.0 4000 o, pO 4223+ 0.0 4000 o, pD 4227+ 0.0 4000 B, pO 4241% 0.0
pl -34.99+ 0.00 pL -36.08+ 0.00 L -34.34 + 0.00 pL -36.02:+ 0.00

- 3000

- 3000

3000 T 3000~

2000 B 2000 2000 2000

1000 1000 1000

1000:— C=29.12 [pS/Ch]

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (5,9,0)

X~ 1w ure+u4 /25
4000 & po 4185+ 0.0

p1 -32.94+ 0.00
3000 [~ 7
2000~ 7

woor C = 30.36 [ps/ch]

L 1
50 100

TP delay [ns]

TVC(cbch) (59,4

4000 fur pO
p1

T rnuiLzy/e+ud [ 25

4227+ 0.0
-33.51+ 0.00

3000 -

2000~

1ol C = 29.84 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(cbch) (5 9,8

iz 5264041 25
4000 [ pD 4207+ 0.0
p1 -32.99 + 0.00
3000~ 7
2000 - 7

wol- C = 30.31 [ps/ch]

0

TVC(cbch) (5,9, 12

50

1
100

TP delay [ns]

4000 .,

3000

2000

1000

pO

p1

- i (1se+u4 [ 25
4255+ 0.0
-35.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,1)

AT 1 nuiL2use+ud 25

P po 41833‘
pl -32.93+ 0.00
[ C=30.36 [ps/ch] - 7
TP delay [ns]

TVC(c,b ch) (5 9,5

- nuiL2u/e+u4 [ 25

4223+ 0.0
-33.03+ 0.00

TVC(c,b ch) (5 9,9

o, DO
pL
- »
[ C =30.28 [ps/ch] ™ ]
& o
TP delay [ns]

Tonan s z3e+u4 [ 25
po 4231+ 0.0
p1 -34.42+ 0,

34.42 + 0.00

[ C =29.06 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (5, 9 13

- pO

Tinuin3/e+ud [ 25
4254+ 0.0
-34.61+ 0.00

- C =28.90 [ps/ch]

50

il
100

TP delay [ns]

4000
3000
2000

1000

4000
3000

2000

4000 [,

3000 |~

2000~

TVC(cbch) (5,9,2)

1000

K™y lﬁleﬂJm‘
-I'_ po 4198+ 0.0
[ pl -32.79 + 0.00
 C=30.50 [ps/ch] ™ ]
C 5(') 10'0
TP delay [ns]
TVC(cbch) (5,9,6)
~nunL Z30e+04 / 25
-, pO 4220+ 0.0
[ pl -34.62 :;‘
- C =28.88 [psichPN, 1

TP delay [ns]

TVC(cbch) (5, 9 10

- nuizo11e+U4 [ 25
pO 4241% 0.0
p1 -33.02:+ 0.00

1000:' C =30.29 [ps/ch]

0

TVC(cbch) (59,14

50

1
100

TP delay [ns]

4000 e
3000
2000

1000

pD

pl

-1 53ze+04 [ 25
4264+ 0.0
-35.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,3)

A1 nuiL31re+ud [ 25

po
pL

4203+ 0.0
-33.16+ 0.00

[ C=30.16 [ps/ch] ™ 7
> o
TP delay [ns]

TVC(c,b ch) (5 9,7

- pO
p1

-1 nui b33e+u4 / 25

4233+ 0.0
-34.05+ 0.00

[ C=29.37[ps/ch] s, ]
- o
TP delay [ns]

TVC(c,b ch) (5, 9

T ause+u4/25
- pO 4234+ 0.0
p1 E + 0.

33.22+ 0.00

[ C =30.10 [ps/ch]

_L
50

1
100

TP delay [ns]

TVC(c,b ch) (5, 9 15

- pO

S 1 sye+ud [ 25
4262+ 0.0
-34.67 + 0.00

[ C =28.84 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 10 0)

© L syse+u4 [ 25
pO 4200+ 0.0
p1 -35.99 + 0.00

TP delay [ns]

TVC(Cbch) (5, 10 4

-1 nuzulie+ud / 25
pO 4234+ 0.0
p1 -36.85+ 0.00

- C =
o+ o
TP delay [ns]
TVC(c,b, ch) (5, 10 8

- Ui o0ve+U4 | 25
po 4233+ 0.0
p1 -36.55+ 0.00

TP delay [ns]

TVC(Cbch) (5, 10 12

- i ysre+ud [ 25
po 4243+ 0.0
-34.69 + 0.00

I C =28.83 [ps/ch]

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

AT 1 nuiLy/oe+u4 [ 25
po 4203+ 0.0
p1 -36.28 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (5, 10 5

“nan1yze+u4 [ 25
po 4220+ 0.0
pl -36.67 + 0.00

1(;0
TP delay [ns]

TVC(eb.oh)=(5, 10,9

<1 nuiLyyoe+us / 25
po 4269+ 0.0
p1 -38.46 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5, 10 13

T nuiz.usbe+ud / 25
pO 4258+ 0.0
pl -36.06 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

1000

TVC(CbCh) (5, 10 2)

~rnuig,17ze+04 [ 25
pO 4211+ 0.0
p1 -36.6 + 0.0

TP delay [ns]

TVC(Cbch) (5, 10 6

1 nuiLyb4e+u4 | 25
pO 4234+ 0.0
pl -37.75+ 0.00

100
TP delay [ns]

TVC(e,b,ch)=(5, 10, 10

- s, rzbe+04 | 25
pO 4275 0.0
-37.51+ 0.00

1
100

TP delay [ns]

TVC(CbCh) (5, 10 14

1 nui ysse+u4 [ 25
pD 4257+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

A~ 1 nuiz.uloe+ud | 25
po 4216+ 0.0
pL -35.92:+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (5, 10 7

-1 nu z4ve+u4 [ 25
pO 4244+ 0.0
p1 -37.26+ 0.00

100
TP delay [ns]

TVC(Cbch) (5, 10 11

T nuz b3oe+u4 / 25
pO 4285+ 0.0
p1 -37.79 + 0.00

TP delay [ns]

TVC(cbch) (5, 10 15

- 1uzyobe+ud [ 25
pO 4256+ 0.0
p1 -35.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

A~ 1 zyne+ud [ 25
Fo po 4173 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(cbch) (5, 11 4

T i, r3ze+04 | 25
E pO 4204+ 0.0
p1 -36.26+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5, 11 8

S i zzbe+Ud [ 25
- pD 4210+ 0.0
p1 -34.96+ 0.00

TP delay [ns]

TVC(c,b Ch) (5,11, 12

A~ 1 nui ruLe+u4 / 25
= po 4226+ 0.0
pl -34.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,11,1)

AL agre+Ud ] 25
P e po 4174+ 0.0
pL -35.06 + 0.00

L 1
50 100

TP delay [ns]

TVC(c,b Ch) (5, 11 5

T nun183e+04 /25
== po 4219+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (5, 11 9

- b UZse+ud ] 25
- pO 4247+ 0.0
pL -35.78+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 11 13

T inai rb3e+ud / 25
= pO 4245+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5, 11 2)

-1 s3be+u4 [ 25
F. pO 4189+ 0.0
L pl -35.94+ 0.00

3000

TP delay [ns]

TVC(chh) (5, 11 6

© 1 nuiLg1be+U4 / 25
- pO 4216+ 0.0
L pl -36.12 + 0.00

TP delay [ns]

TVC(e D eh)=(5, 11, 10

1000

0

X© 1 s 1Z3e+Ua | 25
E- po 4252+ 0.0
[ pl -36.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 11 14)

~ruun 1ove+ud [ 25
F pD 4245+ 0.0
[ p1 -35.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5, 11 3)

- 1 i adbe+ud 25
pO 4202 0.0
pL -35.79. 0.00

TP delay [ns]

TVC(CbCh) (5, 11 7

=1 nuiLyo3e+ud / 25
= po 4226+ 0.0
p1 -35.91+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (5, 11 11

T nuiz 110e+u4 / 25
- pO 4262+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 11 15

T nui pzae+ud [ 25
= po 4235+ 0.0
p1 -35.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVO(eb.eh)=(5, 12,0)

- 1 i 49ve+u4 [ 25
B pO 4199+ 0.0
-34.26+ 0.00

[ C =29.18 [ps/ch]

1
= T00

TP delay [ns]

TVC(eb.ch)=(5. 12, 4

T b4 /e+04 [ 25
C pO 4207+ 0.0
p1 -34.64+ 0.00

G T
TP delay [ns]

TVC(cbch) (5, 12 8

- s5ze+04 [ 25
- pD 4227+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(eb.eh)=(5, 12, 12

- Lole+ud /25
= po 4216+ 0.0
-34.03  0.00

- C =29.38 [ps/ch]

P B |
= T00

TP delay [ns]

TVC(eb.eh)=(5, 12, 1)

4000 fr PO

A~ 1 nuiLbUze+U4 [ 25
4202+ 0.0
Pl -34.92+ 0.00

3000

2000

1000

0 1
=5 00

TP delay

TVC(eDCh)=(5, 12,5

4000 DO

[ns]

=1 nui bobe+u4 / 25
4220+ 0.0
pl -35.06 + 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (5,12,9

4000 [

[ns]

- nug 28 7e+04 [ 25
4229+ 0.0
-33.53+ 0.00

3000 -

2000 -

10 C = 29.82 [ps/ch] ™.

1
5 100

TP delay

TVC(cbch) (5, 12,13

4000 [

[ns]

T nuip43e+ud / 25
4212+ 0.0
-34.71+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVO(eb.eh)=(5, 12,2)

P o

A~ 1 nun 1 soe+ud [ 25
4225+ 0.0
Pl -36.22+ 0.00

TP delay

TVC(eb.ch)=(5. 12,6

- o

pl

[ns]

- 1 nurL408e+04 / 25
4224+ 0.0
-35.69 + 0.00

TP delay

TVC(cbch) (5, 12 10

[ns]

- /i zs4e+04 | 25
4261+ 0.0
-34.34 £ 0.00

4000 [, F’O

[ el
3000:— ]
2000} :
1000:— C =29.12 [ps/ch] s, _

- . L -

! =k T00

TP delay [ns]

4000

3000
2000

1000

TVC(e b eh)=(5, 12, 14

= "

- 1 i syde+ud [ 25
4218+ 0.0
p1 -35.57+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(eb.eh)=(5, 12,3)

po

A” 1 nuiL4o1e+U4 [ 25
4222+ 0.0
pL -36.31+ 0.00

TP delay

TVC(c, bch) (5, 12 7

es, PU

[ns]

S rnan1.4/e404 125
4239+ 0.0
p1 -35.23+ 0.00

TP delay

TVC(e.beh)=(5, 12, 11

[ns]

- L ssde+u4 | 25
4253+ 0.0
-34.19:+ 0.00

[ C =29.25 [ps/ch]

1
= 100

TP delay

TVC(cbch) (5, 12,15

e, PO

[ns]

- Lo/erudl 25
4221% 0.0
Pl -34.65+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.13,0)

T, 133e+U4 / 25
e, PO 4203+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (5.13,4

- 11U bbbe+V4 | 25
e pO 4212+ 0.0
pl -36.38+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

Tnuzrse+u4 [ 25
- pO 4232+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (5,13, 12

-1 nuig bage+u4 | 25
- PO 4237+ 0.0
pl -35.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,1)

AT 1 nuiz,1uze+u4 [ 25
[roee po 4211 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

- Hulibﬁe+04/25
DU 4232+ 0.0
pL -36.55 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

<1 ub.403e+04 [ 25
- pO 4245+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (513,13

T ogbe+u4 [ 25
- pO 4233+ 0.0
pl -35.49 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,13,2)

A7 1 nui soye+u4 / 25
e, po 4199+ 0.0
F pl -35.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

T L3/ /e+04 [ 25
- pO 4204+ 0.0
I pl -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (5, 13 10

1000

0

“rnuzblie+ud /25
- DO 4278+ 0.0
L PL_ -37.32%0.00

3000

TP delay [ns]

TVC(cbch) (5.13, 14

~ i buze+ud [ 25
- PD 4242+ 0.0
F pl -35.45 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,3)

AT 1 nuiz,s44e+04 | 25
PO 4199+ 0.0
p1 -34.34+ 0.00

[ C=29.12 [ps/ch]

L
50 100

TP delay [ns]

TVC(c, bch) (5,137

“ g rple+ud [ 25
- PO 4216+ 0.0
Pl 3556+ 0.00

[ C=28.12 [ps/ch ]
TP delay [ns]

TVC(cbch) (5, 13 1

T 1z0e+04 [ 25
- p0 4269+ 0.0
pL -36.26 + 0.00

TP delay [ns]

TVC(cbch) (513,15

< 1L bobe+u4 / 25
- pO 2247+ 0.0
pl -36.3 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.14,0)

~ 1 nuiL4p8e+U4 / 25
PO 4205+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (5,14, 4

Crnan137e+04 /25
", pO 4205 0.0
pl -35.80  0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 14 8

1z puze+u4 | 25
- PD 4210+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (514,12

~ 1z, 159e+u4 / 25
- PO 4240+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (5,14,1)

4000 Frse )

pl

AT 1 nuiLb34e+U4 [ 25
4200+ 0.0
-35.94+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (5,14,5

g
4000 [ po
pl

b4e+04 | 25
4196+ 0.0
-35.86 + 0.00

3000 -

2000

1000 [~ C

1
50 100

TP delay [ns]

TVC(c, bch) (5, 14 9

4000 B pO

pl

T nuy, r5ae+04 / 25
4232+ 0.0
-35.45+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (514,13

4000 [, pO
p1

TinuiLy/le+ud [ 25
4246+ 0.0
-36.63+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (5,14,2)

- C = 28.21 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

1000

“nunL b38e+04 [ 25
- pO 4225 0.0
H PL_ -36.25% 0.00

K™ 1 nuiouze+ud / 25
Foase, PO 4225+ 0.0
L pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

1000

T nug, (u4e+ud [ 25
- DO 4250+ 0.0
H PL_ -3546% 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

~1nuiLysve+u4 | 25
4226+ 0.0
-35.3+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,14,3)

AT 1L bzoe+ud [ 25
4230+ 0.0
pl -36.58 + 0.00

po

TP delay

TVC(c, bch) (5,14, 7

[ns]

-1 nur byze+u4d / 25
4212+ 0.0
-35.2+ 0.0

TP delay

TVC(cbch) (514,11

e, pO

[ns]

T nuzp/rze+u4 [ 25
4257+ 0.0
pl -35.86 + 0.00

TP delay

TVC(cbch) (5,14, 15

[ns]

T L ze+V4 [ 25
4236+ 0.0
pl -35.75+ 0.00

TP delay

[ns]



TVC(cbch) (5,15,0) TVC(cbch) (5,15,1) TVC(cbch) (5,15,2) TVC(cbch) (5,15,3)
- 2.0zev04 25 x- 1 iz ulae+ud | 25 X~ 1 iz, 14ve+Ud | 25 x- 1 g, 1540404 | 25
4000 e PO 4244+ 0.0 4000 [y, po 4229+ 0.0 4000 [ po 4254+ 0.0 4000 po 4265+ 0.0
pl -34.72 0.00 pL -34.12:% 0.00 L pl -36.45 + 0.00 pL -35.26 + 0.00

- 3000

3000 - N

N 3000 - = 3000

2000~ — 2000 2000~ . 2000

1000 C = 28.80 [pS/Ch] 7] 000 C = 29.31 [pS/Ch] 10007 ] 1000

| 1 L 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5.15,4 TVC(c, bch) (5,155 TVC(cbch) (5.15,6 TVC(c, bch) (5,15, 7

Tz 14/e+04 [ 25 T rnua,ubze+ud | 25 -1 nuz,use+ud / 25 -1 nu 29pe+u4 / 25
4000, pO 4211+ 00 4000, pO 4219+ 0.0 4000 pO 4226+ 0.0 4000 e, pO 4232+ 0.0
Pl -36.28+ 0.00 Pl -36.88+ 0.00 3 Pl -36.66+ 0.00 Pl -35.99: 0.00
3000 E 3000 - 3000 = 3000 -
2000 - 2000 e 2000 — 2000 - -
1000 ; 1000 : wol C = 27.28 [ps/ch : o © ]
[ ] »
- --
0 1 [ 1
50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch)=(5, 15,8) TVC(eb.ch)=(5, 15,9) TVC(eb.ch)=(5, 15,10) TVC(e b eh)=(5, 15, 11)
~ 1 nuiLyple+ud / 25 T nug.4/5e+04 [ 25 T rnugsyle+ud / 25 T ru.b3le+u4 / 25
4000 pO 4222400 4000 pO 4233+ 0.0 4000 [, DO 4254+ 0.0 4000 foe, p0 4263+ 0.0
Pl 37.14% 000 Pl -35.55:0.00 L PL_ -35.62% 0.00 -36.1¢ 0.0

3000

. 3000 - 3000 - 3000 -1

2000 T 2000 - 2000 -1 2000

1000 1000 - 1000 - 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (5.15,12) TVC(c,b ch) (5.15,13) TVC(c,b ch) (5.15,14) TVC(c,b ch) (5.15,15)
T L ysze+u4 | 25 T nuiz.uzze+ud | 25 T rnuiLylpe+u4 / 25 -1 nuiz.usae+ud [ 25
4000 f pO 4257+ 0.0 4000 pO 4271 00 4000 m PD 4267+ 0.0 4000 [, pO 4253+ 0.0
pl -36.16 + 0.00 pl -36.63+ 0.00 + pl -36+ 0.0 pl -35.38 + 0.00

3000

7 3000 N 3000 - 3000 -1

2000 - 2000 B 2000 4 2000

1000 1 1000 1000 T 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A7 1nui ruse+ud /25
P po 4147+ 0.0
-33.91+ 0.00

[ C =29.49 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6,0,4

- Ui 6a4e+u4 | 25
o, pO 4168+ 0.0
pl -33.89+ 0.00

[ C =29.51 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

T rnun.331e+04 / 25
[oane PD 4175+ 0.0
pl -35.84 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,0,12

1 nuzpose+u4 / 25
= po 4206+ 0.0
pl -35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

AT 1nuiLyL/e+u4 /25
e po 4163+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 nu.babe+u4 [ 25
P pO 4179+ 0.0
pL -35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

-1 nuiL zuge+us / 25
E po 4195+ 0.0
p1 -36.43 £ 0.00

TP delay [ns]

TVC(cbch) (6,0,13

T inuzoo/e+ud [ 25
4201+ 0.0
-35.54+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.76 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

A7 1 nuiL gsse+ud / 25
Freee po 4168+ 0.0
o pl -34.78 + 0.00

-, fo5e+04 | 25
Freee, pO 4195+ 0.0
L pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

Ty zoze+04 | 25
- po 4213+ 0.0
- pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

~ g 5z8e+04 [ 25
4196+ 0.0
-35.01+ 0.00

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

AT 1L rooe+ud [ 25
- po 4183+ 0.0
pl -35.44+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

-1 nuz.Uble+ud / 25
aana PU 4202+ 0.0
pl -34.65+ 0.00

C =28.86 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (6, O

T, mbe+u4/25
po 4218+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

L
=]
)

T nuiz.qp3e+u4 / 25
4212+ 0.0
-35.82+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

A7 1 nui puse+ud / 25
po 4172+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (6.1,4

-, 9 re+04 | 25
pO 4175+ 0.0
p1 -34.14 + 0.00

[ C=29.29 [ps/ch]\,_ 7]
% o
TP delay [ns]
TVC(c,b ch) (6 1,8

Tz Z1ipe+u4 | 25
PD 4197+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(cbch) (61,12

~rnuiLyuze+u4 / 25
pO 4196+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT 1 nuiLbose+ud [ 25
- po 4192+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 nu boze+u4d / 25
pO 4159+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

TinuiL1z/e+U5/ 25
= pO 4230+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (61,13

~ 1 nuiz.usye+ud 25
- pO 4190+ 0.0
pl -35.37+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,1,2)

A7 1 nui ozoe+u4 /25
e, po 4208+ 0.0
L pl -37.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

T rnug, rzoe+04 [ 25
- pO 4195+ 0.0
3 pl -35.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 1 10

1000

Trnugbr1e+u4 /25
- po 4243+ 0.0
L pl -35.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

T zuoe+ud /25
-, pD 4189+ 0.0
5 pl -34.94 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

AT 1L ryze+ud [ 25
po 4191+ 0.0
pl -37.26 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

“rnuzy/ee+ud / 25
- pO 4189+ 0.0
p1 -34.67+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

T zu4e+u4/25
- po 4252+ 0.0
pl -35.42 + 0.00

TP delay [ns]

TVC(cbch) (61,15

-1 nui yoze+ud / 25
po 4197+ 0.0
p1 -35.54.+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0

AT roze+04 /25
Froesa po 4197+ 0.0
p1 -37.3+ 0.0

rC=26.81[ps/c ]

TP delay [ns]

TVC(cbch) (62,4

- 1L goge+ud / 25
Fome, pO 4212+ 0.0
p1 -35.77 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 2,8

Tz zzoe+04 | 25
- po 4218+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (6,2, 12

1z gove+ud | 25
= po 4210+ 0.0
pl -34.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

AT 1L yzze+ud [ 25
P e po 4208+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

- 1nuiLY/4e+04 [ 25
[Fomes, pO 4217+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,9

~ 1 nu.pu/e+u4 / 25
- po 4262+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (6,213

Tonanz.z4e+04 125
= pO 4236+ 0.0
pl -36.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,2,2)

K™ 1 nui gsze+u4 [ 25

Fuue po 4207+ 0.0
o pl -35.29.+ 0.00

- C = 28.34 [ps/ch 1
o+ o
TP delay [ns]
TVC(cbch) (6.2,6)
~ 1 nuiL ysze+u4 [ 25

-, pO 4233:‘
: pl -35.65+ _0.00
[ C =28.05[ps/ch 7

TP delay [ns]

TVC(cbch) (6, 2 10

T, r1pe+u4 | 25
__ DO 4262+ 0.0
L pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (6,2 14

T L ysse+ud | 25
. pD 4223+ 0.0
L pl -35.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

po
pL

AT rnuzzzze+ud | 25
4211+ 0.0
-36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

feme pO
pl

S nuiz11/e+u4 [ 25
4247+ 0.0
-36.11+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (6,2,

Xz,

- po

zse+u4 125
4274+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

"1 nuizylae+ud [ 25
4242+ 0.0
-35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

A7 1 nui bobye+ud / 25
- po 4195+ 0.0
pl -36.59 = 0.00

TP delay [ns]

TVC(cbch) (63,4

- i gbye+ud / 25
e, pO 4228+ 0.0
pl -37.36:+ 0.00

I C=26.77 [ps/c ]
5(‘) 100 -
TP delay [ns]
TVC(c,b ch) (6 3,8

T nu 3o3e+u4 / 25
po 4233+ 0.0
-35.9+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,312

Tz 333e+04 [ 25
pO 4234+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,1)

T 1oze+ud [ 25
- pO 4200+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

“1nuz.u4/e+04 [ 25
pO 4231% 0.0
pL -36.31% 0.00

=

TP delay [ns]

TVC(c,b ch) (6 3,9

T nuw, 7bbe+ud / 25
po 4252+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (63,13

T 1 nuiz.zgve+ud | 25
pO 4222+ 0.0
pl -34.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (6,3,2)

AT 1nun rsze+04 /25
Freee, po 4212+ 0.0
L pl -36.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

-1 nurbh3e+u4 [ 25
pO 4235+ 0.0
pl -36.03+ 0.00

TP delay [ns]

TVC(cbch) (6, 3 10

Tz 4e+04 /25
po 4280+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (6,3 14

1000

Tz zige+ud | 25
pD 4224+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3)

AT 1L ovye+ud [ 25
po 4215+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (6 3,7

- nui y3ze+u4 / 25
pO 4246+ 0.0
pL -35.62:+ 0.00

TVC(c,b ch) (6, 3

TP delay [ns]

ERALER bue+u4/25
po 4260+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (63,15

-1 nuiz.u4oe+ud [ 25
po 4240+ 0.0
p1 -36.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

A7 1nui310e+04 /25
.. po 4196+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (6.4,4

Srnan1z1e+04 /25
e, pO 4185+ 0.0
pl -33.95+ 0.00

[ C =29.45 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T rnuz.zi4e+04 | 25
= po 4188+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (64,12

T rnuiLguie+ud / 25
= po 4221+ 0.0
pl -33.44+ 0.00

[C =29.90 [ps/ch] ™. ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT rnuiL3roe+ud [ 25
P po 4175+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nui Zgle+u4d / 25
- pO 4184+ 0.0
pL -34.71% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 4,9

T nug3/ve+ud [ 25
= po 4208+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (64,13

T inaiazze+ud [ 25
= pO 4220+ 0.0
pl -34.58 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

A7 1nun s4se+04 / 25
_- po 4189+ 0.0
o pl -35.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

- rnuiL4zoe+04 [ 25
e pO 4188+ 0.0
[ pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

© 1 nuizusge+u4 | 25
__ DO 4240+ 0.0
L pl -34.7+ 0.0

TP delay [ns]

TVC(cbch) (64,14

T rnuiLg1se+u4 /25
__ 4228+ 0.0
5 -33.59+ 0.00

FC=20.77 [psich] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1L zose+ud [ 25
.. po 4204+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

“nui4/3e+04 / 25
- pO 4199+ 0.0
p1 -34.76+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T 4bue+u4/25
== 4225+ 0.0
-33.73+ 0.00

[ C =29.65 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

Tonan g zoe+ud [ 25
= 4224+ 0.0
-34.44+ 0.00

[ C =29.03 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

K- 1nuiLar1e+04 /25
e po 4202+ 0.0
p1 -35.63+ 0.00

TP delay [ns]

TVC(cbch) (6,54

U0 3e+U4 [ 25
Faase po 4197+ 0.0
pl -34.06 + 0.00

[ C =29.36 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

“rnwz1i1e+ud [ 25
= po 4215+ 0.0
p1 -35.67+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

T rnuizu4se+u4 | 25
4225+ 0.0
-35.51+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

AT 1 nuiLb3se+u4 / 25
k.. po 4213+ 0.0
p1 -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

-1 nug.bg3e+u4 / 25
. 4194+ 0.0
-33.89 % 0.00

=

[ C =29.51 [ps/ch] 7]

50 150
TP delay [ns]

TVC(c,b ch) (6 59

T nu 3g3e+u4 / 25
= po 4213+ 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

T inuizyrve+ud [ 25
= pO 4247+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,5,2)

X~ 1L bzoe+u4 [ 25
Feee po 4224+ 0.0
[ p1 -36.36+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

- iz el1e+u4 / 25
fo, pO 4208+ 0.0
[ pl -34.03+ 0.00

- C =29.38 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

- 1 i yise+ud | 25
- pO 4242+ 0.0
[ p1 -35.57:+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

- 1 nuiL yooe+u4 / 25
F-. pD 4220+ 0.0
[ p1 -35.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A~ 1 nuiLbu/e+ud [ 25
- po 4210+ 0.0
pL -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

=1 nui 329e+04 | 25
= po 4210+ 0.0
pl -34.96 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

T, 4U::e+u4/25
- pO 4247+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

- i ybze+ud [ 25
e, pO 4234+ 0.0
p1 -35.94 + 0.00

TP delay [ns]



TVC(ehe)=(6,6,0) TVC(ebe)=(6,6,1) TVC(ehe)=(6,6,2) TVC(ehe)=(6,6,3)
A” 11 by4e+ud [ 25 A~ 1w oooe+ud [ 25 o pyse+ud [ 25 A~ 1 ryse+ud | 25
4000k, po 4197+ 0.0 4000, po 4207+ 0.0 a0, po 4202+ 0.0 4000 R, po 4215+ 0.0
Pl -35.27+0.00 Pl -35.69+ 0.00 L pl 3532+ 0.00 pl_ -35.26+ 0.00
3000 E 3000 - 3000 — 3000 B
2000 E 2000 - 2000 ] 2000 B

1 ool C = 28.32 [ps/ch

1000 1 . wof ¢ = 28.36 [ps/ch 1
0 1 1 1 -] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (6 6,4) TVC(c,b Ch) (6, 6 ) TVC(c,b Ch) (6 6,6) TVC(c,b Ch) (6 6,7)
T nuiL4z/e+04 / 25 T r3ye+u4 [ 25 T nuiLbl/e+ud /25 -1 pule+ud / 25
A000FL, pO 4181+ 00 000, pO 4207+ 00 4000k, pO 41941 00 4000 o, pO 4206+ 0.0
pl 3488+ 0.00 Pl -36.16%0.00 3 PL_ -35.34%0.00 Pl 3576000
3000 — 3000 - 3000 ] 3000 - ]
2000 ] 2000 g 2000 ] 2000 4
1000 . 1000 ] wool- C = 28.30 [ps/ch . wop C ]
. . - o .
50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eh.ch)=(6,6,8) TVC(e.e=(6,6,9) TVC(eb.ch=(6, 6, 10) TVC(ebeh)=(6,6,11)
©1nu,z9se+u4 [ 25 -1 yove+us / 25 T nug31se+u4 / 25 T a2 b8e+u4 / 25
4000 pO 4216+ 0.0 4000 e, pO 4247+ 0.0 4000 [, DO 4258+ 0.0 4000 [ p0 4254+ 0.0
Pl 3549 0.00 Pl -34.74% 0.00 L PL_ 3579+ 0.00 Pl 3502+ 0.00
3000 B 3000 [ . 3000 - 3000 -
2000 4 2000 |- - 2000 3 2000 4

1000 1000

1000

100 C = 28.79 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(661 ) TVC(cbch)(6613) TVC(Cbch)(661 ) TVC(cbch)(6615)
~ 1 nuz,uboe+ud / 25 Tz 14e+04 /25 T Lo roe+ud [ 25 T 1 yze+u4 [ 25
4000 PO 4233+ 0.0 4000 pO 4226 £ 0.0 4000 - PD 4223+ 0.0 4000 4237+ 0.0
pl -35.65 + 0.00 pl -35.48 + 0.00 I pl -35.34 £ 0.00 -36.01+ 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 [~

-1 1000 - 1000

PR I S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(670) TVC(cbch)(671) TVC(cbch)(672) TVC(cbch)(673)
AT inuiLol/e+u4 /25 AT rnuiLorye+ud [ 25 A7 nui roze+04 /25 AT 1L Buve+u4 [ 25
4000R po 4185+ 0.0 400, po 4209+ 0.0 a0, po 4215+ 0.0 4000 o, po 4215+ 0.0
pl -35.3+ 0.0 pl -36.53+ 0.00 F pl -36.09 + 0.00 pl -35.37 + 0.00

- 3000

3000 = 3000 =1 3000 - -1

2000 — 2000 7] 2000 ] 2000 [

1000 1000 1000

oo C = 28.27 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (67,4 TVC(cbch) (6.7, TVC(cbch) (67,6 TVC(c, bch) (6.7,

“ g u)lleﬂJA 125 “rnarg, /)Ude+04/25 “ g tl)abe+U4 125 Trnarg, L)/be+l)4/25
4000 pO 4198+ 0.0 4000, pO 4210+ 0.0 4000 fo pO 4217+ 0.0 4000 R pO 4217+ 0.0
pl -34.58 + 0.00 pL -35.16 + 0.00 3 pl -34.87 % 0.00 pL -34.36 + 0.00
3000~ - 3000 E 3000 - - 3000 -
2000 - E 2000 B 2000~ 1 2000 [ -
10001 ] 1000 . woor C = 28.68 [ps/ch ] ooF C = 29,11 [ps/ch] ]
1 L= [ 1 1 =] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 7,8 TVC(cbch) (6 7,9 TVC(cbch) (6, 7 10 TVC(cbch) (6, 7

T g/e+u4 /25 T naiL1u3e+us / 25 1 nuzbope+u4 / 25 Trnun g sze+u4/25
4000 b, PD 4207+ 0.0 4000 b, DO 4227+ 0.0 4000 - DO 4251+ 0.0 4000 fo, pO 4260+ 0.0
pl -35.82+ 0.00 pl -36.29 + 0.00 r pl -36.95+ 0.00 pl -37.33+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(671 ) TVC(cbch)(6713) TVC(cbch)(67l4) TVC(cbch)(6715)
Tz zie+04 /25 T inu zgse+ud [ 25 © g e+l | 25 -1 nuizyyze+ud [ 25
4000 fm, pO 4253+ 0.0 4000 [, pO 4247+ 0.0 4000 fm, PD 4251+ 0.0 4000 [, pO 4261+ 0.0
pl -36.25 + 0.00 pl -37.02+ 0.00 I pl -36.34 + 0.00 pl -36.56 + 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

A~ 1 nuiz,us0e+04 [ 25
e po 4182+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (6,84

- 1L Zg6e+04 [ 25
o, po 4267+ 0.0
pl -38.75+ 0.00

-
] =
50 100

TP delay [ns]

TVC(cbch) (6 8,8

-1 Soue+ua 25
e, pD 4211+ 0.0
p1 -34.92 % 0.00

TP delay [ns]

TVC(cbch) (6,812

- 1 i 35se+U4 25
= po 4221% 0.0
p1 -35.69 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

A1z 0are+Ua ] 25

F. po 4180+ 0.0
pL -34.62.+ 0.00

L 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

L pO

a2 z0e+04 / 25

pl -37.55+ 0.00

4250+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

1 nuig.2zoe+u4 [ 25

e, pO 4221+ 0.0
p1 -34.44 + 0.00

[ C =29.03 [ps/ch] 7]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

raiLzrse+ud [ 25

foe, pO 4232 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

A1z uLse+ud /25
4204+ 0.0
-349+ 0.0

P w0
L pl
- C = 28.65 [ps/ch 1

+ s

TP delay [ns]
TVC(cbch) (6,8,6)
=1 nurL 845e+04 [ 25

pe- pO 4261*7‘
N pl -38.03+ 0.00
- C =26.29 [pslc .

=+ o

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

=1 nug,

- b
pl

151e+U4 /25
4253+ 0.0
-35.13+ 0.00

TP delay [ns]

TVC(cbch) (6,814

-1 i pole+ud [ 25
4220+ 0.0
-34.55 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po
pL

A~ 1 nuiLBzoe+ud [ 25
4207+ 0.0
-35.62:+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6 8,7

- pO
pl

CnuZ/oe+u4 / 25
4280+ 0.0
-37.78 + 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

T, /me+u4/25
4259+ 0.0
-34.9 £ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (6, 8 15

- pbre+ud [ 25
4230+ 0.0
-35.01+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0)

- po

pl

A7 1 nun ssye+ud / 25
4212+ 0.0
-36.49 + 0.00

TP delay [ns]

TVC(cbch) (6,9,4

pO
pL

-1z, 0obe+ud / 25
4235+ 0.0
-35.06 + 0.00

% T
TP delay [ns]
TVC(cbch) (6 9,8
== po

a2 49ve+04 | 25
4219+ 0.0
-34.96 + 0.00

p1

TP delay [ns]

TVC(cbch) (6,9, 12

pO
p1

T L pole+ud / 25
4236+ 0.0
-33.98+ 0.00

[ C =29.43 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1)

nse po

pl

AT 1L yoe+ud [ 25
4218+ 0.0
-35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

=1 Ui Yube+u4 / 25
4248+ 0.0
-35.7 £ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (6,9,9

X1,

== po
pl

128e+U4 | 25
4232+ 0.0
-35.79 + 0.00

TP delay [ns]

TVC(cbch) (6,9,13

T 1 nuiL pbze+ud / 25
4233+ 0.0
-35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000

2000

1000

1000

TVC(cbch) (6,9,2)

po

pl

A7 1 nuisyze+u4 /25
4236+ 0.0
-37.54+ 0.00

50 100
TP delay [ns]
TVC(cbch) (6 9,6)
“nuiLyu/e+u4 [ 25
e, pO 4257+ 0.0
[ -35.61+ 0.00

TP delay

TVC(cbch) (6, 9 10

F= b

[ns]

© 1 nuig.ugbe+u4 | 25
4259+ 0.0
pl -36.05+ 0.00

TP delay

TVC(cbch) (6,9,14

[ns]

T rnuiLpse+u4 [ 25
4247+ 0.0
-36.5+ 0.0

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

- po

AT 1L ysze+ud [ 25
4241+ 0.0
-37.03+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (6 9,7

p==. pO
pl

-1 nui ygye+u4 / 25
4274+ 0.0
-36.64 + 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (6, 9

= pO

T 5Uie+U4/25
4270+ 0.0
-36.14 + 0.00

pl

TP delay [ns]

TVC(C, bch) (6,9,15

= po

T nui s1e+ud [ 25
4256+ 0.0
-36.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T rnuiLzioe+ud [ 25
- pO 4203+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (6.10,4

- rnuLy3le+ud / 25
pO 4213+ 0.0
pl -36.67:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

1 nuiLbe4e+U4 / 25
= po 4217+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (6.10,12)

© L gsoe+u4 / 25
= po 4226+ 0.0
pl -35.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

e, po

AT 1 nuiLbzze+ud [ 25
4206+ 0.0
p1 -36.04+ 0.00

TP delay

TVC(c, bch) (6.10,5

- pO

[ns]

a2 e+u4 [ 25
4217+ 0.0
pl -36.17 + 0.00

TP delay

TVC(c, bch) (6, 10 9

[ns]

. Hu-b4ue+u4125
4221+ 0.0
pl -35.86 + 0.00

TP delay

TVC(cbch) (610,13

[ns]

~ 1 nuiL ysbe+ud / 25
4227+ 0.0
-35.31+ 0.00

PR U S S |
50 100

TP delay

[ns]

4000

2000

4000

3000

2000

4000

3000

2000

4000

3000
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50

1
100

TP delay [ns]

TVC(cbch) (71,13

Tinuz1s/e+ud [ 25
4220+ 0.0
-35.35+ 0.00

TP delay [ns]

TVC(cbch) (7,1,2)

4000

3000
2000

1000

- pO

- Lyve+ud [ 25
4190+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (7,1,6

4000

3000

2000

1000

T L Bo/e+u4 [ 25
I pO 4230+ 0.0
[ Pl -35.62+ 0.00

- C = 28.08 [ps/ch

50 10‘0
TP delay [ns]

TVC(ebeh)=(7, 1, 10

4000

3000

2000

1000

Tnuzyr4e+u4 [ 25
™ DO 4248+ 0.0
L pl -33.25+ 0.00

- C =30.07 [ps/ch] ™.

0

50

1
100

TP delay [ns]

TVC(cbch) (7.1,14

4000

3000
2000

1000

Tanuagzize+V4 | 25
4224+ 0.0
pl -35.74+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3)

o, pO

p1

AT 1 nuiLyyse+ud [ 25
4220+ 0.0
-36.15+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 1,7

-1 nun gzee+u4 [ 25
- PO 4237+ 0.0
pL -35.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 1

1)
T, 1obe+u4 / 25
™ p0 4261% 0.0
pl -34.61+ 0.00

[ C =28.89 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (7.1,15

T nuiz 13ve+ud [ 25
4227+ 0.0
-35.18 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

po

pl

K™ 1nuioyre+ud /25
4203+ 0.0
-36.12+ 0.00

TP delay [ns]

TVC(cbch) (72,4

T rnuzis1e+u4 / 25
4184+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,2,8

- nuiz.oLe+ud / 25
4230+ 0.0
-37.36+ 0.00

TP delay [ns]

TVC(cbch) (7,212

© L gs4e+U4 / 25
4212+ 0.0
-35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1)

- PO

pl

A1 L daze+Ud ] 25
4188+ 0.0
-36.08:+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 2,5

-1 nuz.UgBe+u4 / 25
4203+ 0.0
-36.02 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

. v\uw4u13+u4/25
4235+ 0.0
-35.38 + 0.00

TVC(cbch) (7.2,13

TP delay [ns]

Tinai g r4e+u4 [ 25
4209+ 0.0
-35.73+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,2,2)

[ oeee, po

pl

K™ 1 nuioyoe+u4 /25
4196+ 0.0
-36.48 + 0.00

TP delay [ns]

TVC(cbch) (7,26

pO
p1

- 1nug24ze+04 [ 25
4186+ 0.0
-34.46 + 0.00

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

- o

T nub3se+u4 [ 25
4252+ 0.0
-36.68 + 0.00

pl

TP delay [ns]

TVC(cbch) (7,214

~1nuiLgyze+u4 | 25
4222+ 0.0
-35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3)

[Fones, po

p1

A” 1L booe+ud [ 25
4210+ 0.0
-35.99+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

Fe=. pO
pl

-1 nuz.2u4e+04 [ 25
4209+ 0.0
-35.91+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (7, 2

e pO

T ywe+u4/25
4257+ 0.0
-37.52+ 0.00

pl

TP delay [ns]

TVC(C, bch) (7.2,15

T nui syve+ud / 25
4227+ 0.0
-35.52+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

A7 nui sose+ud / 25
- po 4183+ 0.0
pl -35.89 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- i b43e+04 / 25
4175+ 0.0
-35.5+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 3,8

T z4ze+04 /25
4192+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,312

T rnuiLgo/e+u4 / 25
pO 4212+ 0.0
pl -36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

AT 1 nuLoyze+ud [ 25
- po 4192+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

S nui fo/e+u4 [ 25
o, DU 4185+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

-1 nuw.o1e+ud / 25
po 4212+ 0.0
pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (7.3,13

T inuiLss/e+ud [ 25
pO 4203+ 0.0
pl -36.16 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,3,2)

A7 1 nun suze+u4 / 25
Freee po 4199+ 0.0
o pl -36.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

“ i, roze+04 [ 25
pO 4190 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

© 1 nuig, 1ope+u4 / 25
o=, po 4230+ 0.0
L pl -36.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (7.3 14

~ L, rspe+u4 | 25
pD 4208+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

AT 1L sooe+ud [ 25
o, po 4199+ 0.0
pl -36.38+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

- nun gr3e+u4 / 25
- pO 4194+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

T zsye+u4/25
= po 4237+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

Tinuible+ud [ 25
po 4220+ 0.0
p1 -35.83+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (7,4,0)

K™ 1 nuzuloe+ud /25
4186+ 0.0
pl -35.82+ 0.00

TP delay

TVC(cbch) (7.4,4

[ns]

-1 nuiLa35e+04 / 25
4208+ 0.0
-35.64 + 0.00

Fraese. PO
pL
3000~ 7
2000 - 7
1000 C 7
| L
50 100
TP delay [ns]
TVC(cbch) (7.4,8)
Tnun 2 oge+ud [ 25
4000 pD 4210+ 0.0
p1 -34.8 £ 0.0
3000~ 1
2000 - 7
1000~ 71
| -
0 50 100
TP delay [ns]
TVC(c,b ch) (7, 4 12)
Tanunz.zoe+u4 /25
4000 [ po 4214+ 0.0
pl -35.99+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

PSRRI

P PO

p1

soe+ud / 25
4182+ 0.0
-35.08 + 0.00

TVC(c,b ch) (7 4,5

pO
pl

1 1
50 100

TP delay [ns]

-1 nui bl3e+u4 / 25
4211+ 0.0
-35.24 + 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (7, 4

~ 1 nu.Usze+ud 25
4231+ 0.0
-34.98 + 0.00

TP delay [ns]

TVC(cbch) (7.4,13

pO
p1

T inuzusse+ud [ 25
4221+ 0.0
-35.31+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

TVC(cbch) (7,4,2)

[oeee, DO

T zaze+ud /25
4189+ 0.0
pl -35.83+ 0.00

TP delay

TVC(cbch) (7,46

1000

pO
p1

[ns]

T brze+u4 [ 25
4222+ 0.0
-36.61+ 0.00

TP delay

TVC(ebeh)=(7, 4,10

[ns]

© 1 nuiz.ysge+ud | 25
4246+ 0.0
-34.67 + 0.00

L pO
L pl
3000:— __
2000:— _:
wof C = 28,84 [psich]™, 1
4 Y o
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (7.4,14

- PD

T rnuizusie+ud [ 25
4209+ 0.0
pl -35.67 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

e, po

AT 1 nuiLyr4e+u4 [ 25
4194+ 0.0
-35.51+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (7 4,7

pO
pl

-1 nun g3be+u4 / 25
4229+ 0.0
-36.82+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (7, 4

1)
-1 nuiz buse+u4 25
4248+ 0.0
-35.03+ 0.00

TP delay [ns]

TVC(C, bch) (7.4,15

-1 nuiz.usse+ud / 25
4232+ 0.0
-36.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0)

A7 1 nui449e+04 /25
4184+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,54

- i 68 /e+04 | 25
e, pO 4187+ 0.0
p1 -34.45+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

©1nuz 3obe+u4 / 25
[, PD 4204+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (7,5,12

~1nuizugse+ud | 25
= po 4235+ 0.0
pl -36.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

AT 1 nuiLbzoe+ud [ 25
Frase po 4191+ 0.0
pl -35.17+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 55

S nui/1e+u4 [ 25
e, pO 4207+ 0.0
pl -35.49 & 0.00

TP delay [ns]

TVC(c,b ch) (7 59

Tinuny1/e+ud /25
= po 4216+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (7.5,13

TinuiLyrse+ud [ 25
= pO 4236+ 0.0
p1 -36.6 + 0.0

TP delay [ns]

4000

2000

1000

4000
3000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (7,5,2)

A7 1nui rzoe+04 /25
P, po 4210+ 0.0
o pl -35.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- C = 28.65 [ps/ch

=1 nurLgobe+u4 / 25
pO 4203+ 0.0
pl -34.91+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

Trnug.zr1e+04 /25
. po 4235+ 0.0
L p1 -36.45 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,5,14

1 nuiLyyoe+u4 / 25
- pD 4239+ 0.0
L pl -37.06 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

R 7sae+ud [ 25
Fue po 4215+ 0.0
pL -35.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

S rnan 1.93e+u4 [ 25
- pO 4214+ 0.0
pL -35.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

ERALER baue+u4/25
= po 4239+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

T nai ysze+ud [ 25
= po 4223+ 0.0
p1 -35.8+ 0.0

TP delay [ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

A~ 1nuzgure+ud /25
¥ s po 4224+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

4000

-z lple+ud / 25
Feee pO 4204+ 0.0
pl -35.31 0.00

3000 - T
2000~ T
1000~ C 7
| L
50 100
TP delay [ns]
TVC(cbch) (7 6,8)
S i Zbge+ud /25
4000 [ pD 4186+ 0.0
-33.93+ 0.00
3000 - N
2000 - T
wor C =29.47 [ps/chl™, 7
. -

0

1
50 100

TP delay [ns]

TVC(cbch) (7,6,12

4000

3000

2000

1000

T g oze+u4 /25
= po 4199+ 0.0
pl -32.35+ 0.00

[ C =30.91 [ps/ch]

N PR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

x- 1 i Gsae+ud | 25
P oaee po 4227+ 0.0
pL -36.31% 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

- 1nu.2yle+u4d / 25
[Fomes, pO 4222+ 0.0
pL -35.71+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 6,9

-1 nuws, 780e+u4 / 25
= po 4220+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7.6,13

T inui g1se+ud [ 25
= pO 4232+ 0.0
pl -35.28 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (7,6,2)

K™ 1 nuioyoe+ud / 25
-_ po 4221+ 0.0
- pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

© 1 nu.484e+04 | 25
- pO 4236+ 0.0
- pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (7, 6 10

©1nuig.bs4e+u4 [ 25
F po 4245+ 0.0
L pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (7.6,14

T zzoe+u4 /25
__ pD 4246+ 0.0
L pl -36.48 + 0.00

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3

AT 1L ssoe+u4 [ 25
— po 4237+ 0.0
pl -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

S nu 53e+04 / 25
- pO 4249+ 0.0
p1 -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

AN dee+U4/25
= po 4233+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

T nuiz zoae+ud [ 25
= pO 4237+ 0.0
p1 -35.53+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

A1 nui booe+ud / 25
o, po 4203+ 0.0
p1 -34.69 + 0.00

TP delay [ns]

TVC(cbch) (77,4

T rzie+u4 | 25
pO 4201+ 0.0
p1 -34.75+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

1 nuiz.49pe+04 | 25
= po 4213+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

T ry1e+u4 / 25
= po 4220+ 0.0
pl -37.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

A 1L Saze+Ud ] 25
e po 4217+ 0.0
pL -35.34+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 7,5

-1 nui by3e+ud [ 25
E pO 4212+ 0.0
-35.5+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 7

T nu. gble+ud / 25
= po 4229+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (7,7,13

Tinairz/e+ud [ 25
= pO 4219+ 0.0
p1 -37.6+ 0.0

50 100

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

- C = 28.59 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

K™ 1nuiLoroe+Vd /25
_._ po 4215+ 0.0
[ pL -34.98  0.00

- L, 7uge+ud [ 25
pO 4229+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

©1nuiz4n4e+04 [ 25
=, po 4236+ 0.0
- pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (7,7,14

Tz 13ze+04 [ 25
- pD 4217+ 0.0
L p1 -36.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,3

AT 1 nuiLo1oe+ud /25
I s po 4221+ 0.0
pl -35.25+ 0.00

[ C =28.37 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (7 7,7

S nu ze+04 [ 25
- pO 4232+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
T nuz.y/ye+ud [ 25
= pO 4247+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

Tinuizul/e+ud /25
- po 4219+ 0.0
p1 -37.09 + 0.00

TP delay [ns]



TVC(cbch)(780) TVC(cbch)(781) TVC(cbch)(782) TVC(cbch)(783)
AT 1L 30e+u4 / 25 “rnan g r3e+ud [ 25 A” i ysse+u4 [ 25 A~ 1 Buse+ud / 25

4000, po 4159+ 0.0 4000, po 4174+ 0.0 4000 P, po 4174+ 0.0 4000, po 4174+ 0.0
pl -35.92+ 0.00 pl -35.45+ 0.00 : pl -35.3 f 0.0 pl -34.67 + 0.00

3000

B 3000 - 3000 - 3000 [ B

2000 = 2000 -

T 2000 =1 2000

1000 1000 B 1000

wol C = 28.84 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7.8,4 TVC(cbch) (7,85 TVC(cbch) (78,6 TVC(c, bch) (7,87

T nuz 1o3e+04 / 25 “ a1 88e+u4 / 25 T nuz 3use+u4 / 25 - 1ule+ud [ 25
4000, pO 4177+ 00 000F,, pO 4185 0.0 4000, pO 4191+ 00 4000, pO 4202+ 00
pl_ 3558+ 000 Pl -35.96+000 t PL_ -36.02+ 000 Pl 3649+ 000
3000 ] 3000 — 3000 g 3000 E
2000 ] 2000 — 2000 ] 2000 ]
] n Lo = ] 1000 - 4
1000 1000 woor C = 27.76 [ps/ch ]
I - 1 -
- -
- -
1 1 1 1
0 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7 8,8 TVC(cbch) (7 8,9 TVC(cbch) (7, 8 10 TVC(cbch) (7, 8

4000 ©nuig,3obe+u4 / 25 T nuiLyrye+us / 25 4000 T 1nug1eoe+U4 / 25 4000 T rnur, /Hse+u4/25
[roeee, PD 4193+ 0.0 4000 DO 4214+ 0.0 - DO 4200+ 0.0 - pO 4202+ 0.0
pl -35.05+ 0.00 pl -35.78 + 0.00 r pl -33.48 + 0.00 pl -34.84 + 0.00

- 3000

3000 T 3000 |~ - 3000 1

2000 2000 2000 ] 2000

1000 1000 1000

ol ¢ = 29.87 [ps/ch]

o 1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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